A company specializing in developing optical fiber sensor
This is Optical Fiber Technology

W3ASAS V-4 O

of| =Zoi| o] AIA%Y |5

A company specializing in developing optical fiber sensor
This is Optical Fiber Technology

sorepe) a0suag 1qLJ jedndo

F.A SYSYEM Co.,Ltd.

of
of

of| =Zoi| o] A|AHY | 5| 0

Al

CIM LA SEH - SHHZ 337, SEK|O|EI3AL 530-534% | TEL : 032. 542, 6611 | FAX : 032. 549, 6161 Eil

Copyright by O Z0{|0|A| A& (Z) since 1998, All Rignt Reserves @ www_fasystem_co_ kr



o= 3
1RSS5

S5 AIABIO) 95 BEZES} K| 22 OfE AFFT} 3170[2
=L 29| FA CUSTOM-MADE SERVICE A|AEIS =610,

St AFLI.

(SN S PNESE FUDA BT )
HZol Sz =7 o4 &

BRAND IDENTITY

w i
o0 A

Challenging
Understanding
Valuable
Quality

54| A

YN EHYLCE AIZR DS 5t 7S LDt SO TSI, o ZOOJAIAR(ZE)7t X1

M2l TtsdE B0 L2 MS 0 ME|AZ AR 244 D2 AlF<| 2|C7t F

0
UM K| 7HX| O o] MIZ 2t AH|A

OZOOARIFORIE HHES KIYARH M2HT 4+ Y 59| B

ol
A

—
=

ONLY F-A SYSTEM
CUSTOM-MADE SERVICE

ZslojH MM FR HZ
7140CH S3HE XS5 AIA B0 2
B8} HX| 042 OfH ATt EH0fRIE
S TESH0], S/ AN BB Tt

azbil ®M0{7]|7|1%
HHEH K07]7|5
SET|AS(0PHY) 2
H07]7| 5 =il

TofoAlAE N %
FA AL HE ME A
HEZ A2 7|2 X%
MEA| ME R

Ofl 0O A AHY

2A- gz
KR 22|
QIAF 22|
Rpat 22|




INDEX

CUSTOM - MADE SERVICE

SEARY - e EFE) SHOIH R
HIAHY - Li=Z= ERE S10|H R -
HIAHY- S22 EfE S10|H | -
HEAR - 0|2 Of EfE) S0|H R -
QALY - S5 EfE S| R
HIARY - EH ERY S| R
HIAHY-ZE EfE] St0|H R ¢

HIAHY- 25 F72| Bt 310|H R4
HIAHY- 25 =Y7{2| Bt 310[H R :
HEARY- 112 Efe) S10|H R

JEELENPETE
£ Bl S0l 94 ¢

H B K

GPF-D002 / D003 / D004 / D005

GPF-D029 / D029-2 / D030 / D036 / D046

GPF-D004-SP / D006 / D006-SP20-5.0(%) / D007 / D009 / D010 / D019

GPF-D026 / D026-K(%) / D0O26-AT(%)

GPF-D024 / D024-2 / D025 / D025-2 / D034

GPF-DO041-F / D041-F1.3 / D045-HS / DO45-AP / D047

GPF-D032B-2 / GPF-D21N

GPF-D024-ST / D024-ST105 / D024-ST180 / D024-ST250 / D024-ST350

GPF-D025-ST / D025-ST105 / D025-ST250 / D025-ST350 / D025-ST350-SW-6.0 / D035-ST350-6.0

GPF-D011 / D022 / D022-SN(%) / D022-PT / D015-250-S / D015-350-S / D015-420-S / D015-250-L / D015-350-L
D015-420-L / D016-250 / DO16-350

GPF-D016-FA250-2.5-LENS(%)
GPF-D015-LP250 / D0O16-SP250 / D030-SP250 / D030-SP350 / DO15-SP250-2522-5.0S(%)
GPF-D032B-250 / D032B-350



EtAL HO|7{E SZEH Qhf EtAL HIO|{E SSEH Qhiy

aE S/ AN Holx| X EHa & /A HoIX] 2 At
AZBIL OMRON PANASONIC KEYENCE AZBIL OMRON PANASONIC KEYENCE
[Tk 20p M4*0.7p / 2O{ZIZ : 91,0 GPF-T026-K Jif] s =%Z 1 20204 / 01N  16°0.265
R20 - arfiR HPF-T003 E32-TC200 FT-FM2 FU-7F RS a7 @ @ @ @
} T saouels szouse szouse saouse

E32-TC200A FT-B8

[Tl 20p M3'0.50 / 05 : 005 @

R15

Ei
=
7
—|
o
o
i
P
B
[S]
—n
N
e

4
1
ne
£
o
o

S2UeL

o
o
o
[}
g
£2
o
o
o
[}
nz
g2
o

20
80
ok
K
S
=
=
<0
Ea|
80

=5 GPF-T005 s SI=XZ : 03,0/ 201KZ : 01,0 HPT-TO04 @ =5 GPF-T021-K60 e @ @ @ @
LS T8 :
. | 0 | E32-T12 FU-5F
old} glo] R20 . ) + o = ol R4 ot
et &gl s sERulls ol=lof Bl HOE_H‘/—@: EEEREES sEeusls sEeugls sEeugs )
T P — I
GPF-T010 [P3ly M4°0.7p / ZOfXZ : §1.0 @ @ [THRIAESIIN 28p  si=xiz : 201207 / 2018z : 125025 @ @ @ @ g
R20 i) CHiET HPF-TO10 FT-R80 R35 'Taﬁéﬁ‘- %
| 1 s30UYS s30uYs I & . ! S s309YS s30uYg saouys szouys 70
o
GPF-T038 Ay SIEXY 1 01,5/ Foi8F : 00.25 @ E30-T292 FT-SNFM2 @ GPF-T021-A100(R2) WPE]S 20°120°7 / FOAIA : 125°00.25 @ @ @ @ uk
R10 — ~yer — R2 Wﬁ?% ~~~~~~~
i —— szougs szouds Tle ! = szeus saeuys szouys szouys ()
[Tl 22p =T : 01,5/ 20X £ 400,25 GPF-T021-L40 ¥y SISXI2 20567 (A& LENS : 5'40) a'f:
na R— e @ 0 @& 0@ e T @ ® ® @
[ szRUYs s32uYS s32uYs =apa Lu/if s32uY8 sa2uYg szauYg szauYg %
(el OPZ 22p M3'0.5p / 20{5IZ : 0.5 E32-T21R LINEZ ElY T En e 20p  sl=HZ 20275 (RES LENS 1 576) L—_‘Zg
T P — etz PN e @ " —_ @ @ @ :
o - 1 C : szouys szouys szegug
=15 GPF-T025 |pX]d M4°0.7p / R0{ZZ : §1.0 E32-T11R FT-W8 GPF-T025B i) M4°0.7P / O1XZ : §1.0 @ FT-WR80 o
TS . ~ e -~ - oF
=22 Elg] R2 Z{:@E@]{D — al[[ = HPF-T025 FU-77 R2 %EZ -— EEEE HPT-T025B -~ FU-77TZ i
I =ajy | | . w

@ Jo
=
H
2

GPF-T046 PRI AT 015/ 20/ £ 40025 Ea9-T208 1P LI GPF-T11N(x) RS Me0TP / 202 16°00.265 @ @ i
HPF-TO46 FU-59 E32-T11N 1l

R4 T ] €— ; P= o R5 R
[T gg ﬁ S3298 s32998 s32ue8 ;‘(6?
GPF-T050 JpXl¢] =2 : 93,0/ 201N 01.0 E32-T12R FT-WS3 GPF-T007 [EAlY) ISR : @2.5/ 201RZ 1 00.5 E30-To4 FT-va1 @ oo

S S HPF-TO31 FU-5FZ T HPT-TOO07

R2 =] ] € | = o o) o o) R15 =) =1 -
. 1 2iod x

)

@ Jo
=
H
nz

)

=
H

e

R0 i = R20 !
GPF-T008 [pZls M3°0.5p / 2012 : 0.5 @ E32-TC200F FT-NFM2S @ GPF-T007-SE il SEXZ 02512/ RORZA : 005 @
S329es 3293

‘ =D
GPF-T006 P2l M4°0.7p / FO{AZ : 91.0 HPT-TO05 E30-TC200B FT-FM2S @ GPF-T007-2 JEjld sl=x7 1 03015/ 20152 < 91 @ @
=4

o
[
]
oo
o
[
[
2
)
oo
o
[
@ : @
2
0
oo
=

R15 —djb— -— f— oAt oAt ) R15 @

Entg | &5 R welg £y szouls szouus ssauus sszuus K
sale ol Alo|ER = oF
£2|2 B GPF-T015 i M3°0.5p / 20{x : 30.25 HPT-TO15 @ @ @ Efel GPF-T007-5 [l SIS 1 0815/ FOEIZ : ¢1.0 @ @ @ @ =

— £
R10 E@ID]= =@mﬁ oAMDE R20 i ol
e S szouNs szouNs szauNs . szauls szaues szauus szRugs o
= N
eI 25p SIS 03,0/ Z0XIZ : 00.5 @ @ @ @ GPF-TO26(LIZ23E) R P eI R @ @ @ m|||:
R15 = Dl e R1 ?7 { HPT-T026
= = saRues szRugs S3RYYS S3RYYS s32998 s3299s s3Rde8

——

FU-AO5 GPF-T026-2(Li=Z2=4) KX 1.6'1.815/ F0{2A : 005

[l | ___r——

AlolEeg

=

GPF-T021 3] AZtE3 1 1515 / T0{RIZ 1 16°00.265 g’;
57 e @ E @ ® @ @
R5 Py R1 £l
_ SERYUS SERYUS EA ‘ SE2YRUS SE2Yels S32Yels %
| Il
o
=y GPF-T021-2 i3] Af2t23 157153 / FOJEIZ : 9°00.265 £30-T25X GPF-T007-250 JEX]s) 04 15(z2]= : 9320) ?41(}
=i/t = e i S — K
o R5 F’ ’! @ - @ @ R25 T @ @ @ @
O”El O-I E} = _ - } _ SEDUUS SERHYUS SRS E—J_'—I'% } SRS SE2YeUS SRS SERERS

GPF-T021-TW08 A{s] Alztga] 1 15°15% / TO{R|Z 1 870,265 @ @ ee GPF-THO7S-27V2() JRK]ERPCCIEIPe VD e o

®
®
®

R5
NS

==

R25 } — ; J

S32¢U8

1
o

o
ng
£2
oo
9

om
B
n2
£
oo
of
b
ta
ng
£
oo
ofn
b
[
ng
£
oo
of
Oh
[
n2
£
oo
ofn

ERUE

oo
o
O
i
n2
£
oo

6 www.fasystem.co.kr OIZOlo A ARYE) 7



EtAL HO|7{E SZEH Qhf EtAL HIO|{E SSEH Qhiy

a& [ AM EHolx] R @A aE /AN HolX H e
AZBIL OMRON PANASONIC KEYENCE AZBIL OMRON PANASONIC KEYENCE
GPF-THO7S-27V3(5k) Rk IR P o] GPF-T014-350-S [:l!]s} M4'0,7P / Z0{E1Z : 01.2 HPE-TO14 E30-T61S )
R25 t : | R25 SON00A00N ] - — FT-H35-M2 FU-84C 5'3
E—Wm W szouzs szeuus saeuus saeuus ¢ g-K
ST GPr-TH045-27V2(%) I e e GPF-T014-420-S [0 &
MOIER  Ros : —_— @ @ @ @ R25 o] @ @ @ @ =
I=2g }7—‘ ‘ szougs szougs szouys szouus ok szouus szouys szuuys szoags <0
3l
GPF-TH04S-27V3(%) IRL R CCICIP ey VRl @ @ GPF-T014-250-L Al @ @ @ @ w
R25 — E— R25
. ‘ SEDYAS SE2YAS SEDYUYS SEDYAS SE2YRUS SE2WRUS SE2YAS =
GPF-T028-LF L] AZHER 1 16'7°4 / ZOINZ : 005 @ @ @ @ GPF-T014-350-L 3l @ @ @ @ g
Ri ! 1t R25 o
SERYUS SE2Yes SE2YeS SE29US SE29Us SE29US SE2YeUS SE29US |-|'50
= = =
(elX VPR NI 36p 1674, M40.7p / 201X : ©0.5, 1.0 @ @ @ @ GPF-T014-420-L 3l @ @ @ @ Ly
R1, R20 [@ @ R25 L)
ssouYs ssouYs sz0uls saeuys saeuys saeuys szouys szouys

GPF-T028-LF-S EE{ds] Al2tE3 16774/ Z01R 1 0.5 FU-51TZ o2 ER GPF-T014-SM250-L [:¥de] SISAZ : 04.0 / T 01.2

m

w
Jo N
=
(1]
o
“ %

wn
I R

=2

W @ @ @ was = - B
ssRugs LRSS EEEETES f = szRuse szaugs szauges %
GPF-T028-LF-HM [lds} - AZt22 1 16774/ TOfEIZ  01.0 @ @ @ FU-50T7 GPF-T014-350-HL 2p M40.7P / ZOEIZ : 1.2 @ £30-T61-S @ @ :-%)

R20 s =YT=1] R25 50 = o 1063 =YT=1]
- < szougs szougs szouls — A szouls szouls szouYs

GPF-T028-LF-HS IRt e e Cop 1257 s GPF-T014-5V250-UK [ vs07P B0/ 028 x
R1 F - R25 == e -
—$—J_l|'6oi @ @ S32YUS SRS ‘E:: — = SE2YeUS SE2YAUS SE2YAUS SE2YAUS =}

23, u

Efel GPF-T028-LF-RTS EX{s) Aj2t2e] 814,24 | ZOIRIZ 1 Q0.5
Ri T

FU-57T7Z GPF-T025B-250-2.0 X} M4°0.7P / O1IZ  01.2
==

R25 EH @g

@ P

R

H

g

@ P

P

n H

rind
0
=
H
ne

®
®
®
®

S529U8 sE2Yels SE2Yes SE2Yes SE2Yes SE2YaS iiod

GPF-T028-LF-WIN-2 IR R e o

GPF-T028-LF-Z8 I AziE2]:8°12'3/ 3015 : 005 @ @ FT-78
2

®

GPF-T025B-350-2.0 X]s) M4°0.7P / ZOIRIZ : 01.2 @ @ @ —
5323 S329els

w o

GPF-D002 ) M6°0.75P / 202 : 2'}2)1‘0 @ FU-6F S

R20 — HPF-D002 E32-DC200

®

i
o
n2
£2
oo
w
B
n2
£
oo
oft
obt
I
n2
£
i

o
obt
[
n2
£
i

2T & =3 5 =] oF

Ri © ~ @ — 0
GPF-T028-LF-LH L B S ELEC R EaT15Y — @ GPF-D003 [T @ . FD-NFM2 FU-66
R T T e RIS = e
SE2YUS H._I‘Al'so:l S32YUS a—;
GPF-T028-LF-WIN 1] =i E Ry S ER YR et R K @ @ @ et et [elx [0 [0 45p @ )
o
R1 S m m R15 - HPF-D004 ~ EB32-DC200E FD-T40 L:
SERYUS SRS SE2YUS SE2YUS SE2YUS do
SR 1218 / LENS x <+
=iy GPF-T030 ki) oﬂ:-la 112418/ LENS : ©4.0 @ @ @ @ GPF-D005 [&)s) P 020 FD-S80 FU-4F ur
| | — = ’, — — - 3 o [= P= [= -
O Ered R10 LQ@ ssouYs ss2uus EEEELE s32us R15 o
GPF-TO11 [ELJd M4*0,7P / ZO{AIZ 1 01,0 GPF-D029 I3 g’;
R25 A ‘ HPF-TO12 @ FU-86A R - HPF-D029 E32-D21R FD-WT4 @ 5
sznucls szeuls - szouYs %
o

) GPF-TO17 [eitle]
=0}y

TeEelel R3S

ST SOIRIAH ;04 0
E32-T51 GPF-D029-2 Jalls ST 000/ 208 2008 @ FD-WS8 FU-48U e

N
HPF-TO17 FU-88 - — E32-D22R
SARE W23 el Rl = : AR SARE

GPF-T014-250-S ) @ E30-T61-S FT-H20-M1 FU-88K GPF-D030 [:¥{s! M6°0.75P / ZO{21 2 : 2°01 FD-W8

HPF-D E32-D11R FU-67
R2s R2 - R Ve

&

o

o
I
g2
oo
E
o
[
L]
2
g2
oo

8 www.fasystem.co.kr OIZOOJA|AEY(E) 9



EtAL HO|7{E SZEH Qhf EtAL HO|7{E SZ2H ohf

a& [ AM EHolx] R @A g /AN HolX H e
AZBIL OMRON PANASONIC KEYENCE AZBIL OMRON PANASONIC KEYENCE
GPF-D036 N:¥{s] H=xZ 015/ 20jRZ :425 HPE-D036 E30-D22B oo o GPF-D041-F 5“4p 13°7°2T / 2OIRIZ : 2°00.5 @ @ @ - "
R4 m—— — T — — - - Ri = - %
HIANS = e =D =D F@ — srougs ;K
SESIS NN GPF-D046 [RN(Y SR £ 015/ ZINE 1 20025 @ @ @ @ CTZIEEFEN 54p  waseaTeT/ 2o 2005 @ @ s
. = =1
R5 —_—— T R1 F B T =
e SERYUS EE9YAUS SE2YUS SE29US jA ‘ SE29US SE29US SE2YUS SE29US :<0
‘ £
GPF-D004-SP_ L]y ME0.5P / 20153 12005 @ HEAFS CIERIEERR RN 54p atmel 1285/ 2053 12005 @ @ @ @ 0
E32-DC200-F FD-31 FU-6F = S &
R15 = } Hi54 ElOI R2 =
- ﬂ e EI-H S @’J SE2YeS SE2YRUS S32%es s32Yels Y
s T
E
GPF-D006 s M6°0.75P / Z0{XIZ : 2°01.0 HPE-D003 E£30-DC200B FD-FM2S @ GPF-D045-AP ?ip 12°8,5°4T / ZOIXZ : 2°01.0 @ @ @ @ Eo—’-
R15 — — - R2 T] B ;
= N szouls LE p@ szouls szouYs szouYs szoUYs ;:-?(;
- =l
GPF-D006-SP20-5.0(%) L] M6°0.75P / ZO{XIZ : @1.0 @ @ @ @ GPF-D047 L)) Af2H221 7.2'10.53 / 01X : 00.5 Ly
R20 ' R1 i : E ] @ @ @ FU-47TZ
E32YAS E3RYAS SE2YUS S32ges L uaG e} SE2Ees 3293 S329e3

GPF-D032B-2 BEIf9) M4°0,7P / TR : 2-9°00.25 HPF-D032B FU-66TZ t-)‘I:

ShALE GPF-D007 L] : @ @ FD-NFM2S4
-« i -

®
®
®

2|2 gl R20 o R5 ‘ £
=2l e 52Uy szouNs szauNs HEAFS = @ 213 Dptico! floer szauus szauus EOST
GPF-D009 gL)d SI=XZ : 3.0/ F01NZ : 2°00.5 SEY B m 57p M4°0.7P / ZOfEIZ : 2-2°00.265 T_-_"LE
R15 . == HPF-DO21 @ @ @ R5 In @ @ @ -
= ¢ =< sz0ugs sa2uds sa2uns | sa2uns saouys saouys
— e —_—
GPF-D010 JGlV¢ M30.5P / TO{[] : 2'00.25 @ @ (el ZDIPZES M 58p Af2E2| 20'30°0 / XA : 053 @ @ @ g
g ——— oF
R10 = —df— FD-ENM1ST R20 < Uoo >
- | I | szougs saeugs sz0ugs - szouYs szouYs szouys =
oj
0

GPF-D024-ST105 JEt:]d] Aj2t22 20'30°0 / MEEZ 1 05,3

GPF-D019 [ H=x1Z 030/ 2OXZ : 2°00.25 @

-
L=

®i®®i®® [
®
®
®

R10 - — HPF-D019 E32-D33 R25 — 0O
- i%{ sE2uYs - 0 ee ELEEE ss2uus sszuus ol
ClHEIP | 51D AREE 20204/ S 1600265/ $HE 16100265 @ @ @ HEA}S GPF-D024-ST180 JEE]s) Ab2tE2 20°30°0 / A= 1 05.3 o
=i i - @ @ @
R5 1 e R35 ] -
= l! 2822 cptcal Foer ‘ szeuss sz2uls ssouls szouge Ete! = (] ©e szoUYs szoYYs ssoyus 3;
E)
el [GPF-D026-Kiok) IR e @ @ @ | GPF-D024-ST250 L)Y AZ22 20'30°9 / XA 053 @ @ @ %
TIATS [
of|2|oq Efel R5 - HPF-D026 R25 - oo FOOTaTB0TIIEeaneae] — 70
. - S— E— EE2YUS SRS SRS - ISR SRS SRS SRS SE2YUS Eﬁ
CEERLENITTN 51p 20204/ S22 1600265/ 25 16'00.265 @ @ @ @ GPF-D024-ST350 ] AzHEE 20°30°9 / BIZAZ © 053 @ @ @ @
—_—
R5 R25 = [' ® o L
= S32YUs S32YAUS SEREUS 3293 sttt e sasren st | i 1 SE2Ees 3293 s329e3 s329els X
oF
GPF-D024 [l M30.5P / S 1°00.5 |+ 9°00.25 E£-32-C31 GPF-D025-ST V] Ab2tEa| 20°30°0 / XN : 07 )
e HPF-DO35 FD-G6 FU-35FA @ @ @ @ &
R15, R56 oAlmE R20 X ol
: FQEFEH - 1.3 Optical fiber : v SE2YNUS ST2YNUS STZYNUS 0'-1%
— <
ClHE LI 50D M305P / SEE 1°00.5 / £ 9°00.25 @ @ @ GPF-D025-ST105 ) Ap2t22 22°30°0 / MERZ 1 07 |u|||:
_ »1 Optical fiber FU_85FZ @ @ @ @
R1, R5 R25 )
= Fﬂ@m — 1.3 tptical fiber EIEE szruns szouge = © szoUss szpugs sanuge sznuge
ShALE m 53p M6"0.75P / ST 1°01.0 / B 16°00.265 HEAFE GPF-D025-ST250 H&4)) AlzhEe] 22°30°0 / MIXKZA : 07 @ @ @ @ g;
EArS = . - - - ey A T L ‘
=x ghol R20, R5 — U HPF-D009 E32-CC200 FD-FM2 FU-25 == _._;,71 2| R25 - . ! / / / g
- o oS Efe saeuus szouYs szouus szouus z
0
ClHE il 53D Me'0.75P / SRR 1°01.0 / SBE 1600265 @ @ @ GPF-D025-ST350 Gal) @ @ @ @ ﬂ(}
,,,,,,,,,,,,,,,,,,,, K
R2, R5 .2 Optical fiber R25 BB GIBEEIIE
= S wzz om _ I _'_l_): ______ ssRuss EELELE EELELS = A EELELS ELELS EELS)

®
®
®
® i

GPF-D034 [JEK] M3X0,5P / SR 100,25 / $H& 9°00.2 FD-EG1 FU-21X GPF'D025'ST350'SW'6_0 61p Atz 22309/ A=A : g7
Ol tical tiber HPF-D034 @
RIORS = e o e RES = | oo o

o

ERUE

oo
o
O
i
n2
£
oo

10 www.fasystem.co.kr ol Zofloj A AEY(F) 11



EtAL HO|7{E SZEH Qhf EtAL HIO|{E SSEH Qhiy

a& S B [ AbM| HO|X] A as S B/ Abd| HO|X] B A
AZBIL OMRON PANASONIC KEYENCE AZBIL OMRON PANASONIC KEYENCE

HEALE GPF=D035-ST3506,0" WeRNSIPN=IE-Prac SEVEEE- Rl GPF-D030-SP350 Gt:s] 055/ 2O1RA : 01.6(1/228)
S 2872] Ros { : @ @ @ @ R25 ey @ @ @ @
E|'|o=! S N D\ K B | == SEDYUS SEDYUS SE2YLUS SE2YRUS H|_|'A|'8c§ S Hi‘” L= N SE2YLS SE2YRUS SE2YRUS

nessd
| GPF-DO11 7 M6'0.75P / 20112 : 2'91.0 @ ElQl GPF-D015-SP250-2S522-5.0S (%) i e R @ @ @
HPF-DO13 E32-D51R FU-85A R25

SE2YUS SE29US SE29US SE2YUS EE2YUS

GPF-D32B-250 Ntls) M6°0.75P / RO1=IZ : 01.6(1/2:28)

n
¢
®
~

®
®
®
®

HPF-D022 R25 @[ e
s32us sERYYR HEAFS A szRYYR szRUYR szoUYg s g
nesE = X
@ @ @ @ E}Ql GPF-D32B-350 [tls M6*0.75P / 20112 : @1.6(1/28) @ @ @ @ =
R25 A [ =
E52UUS E52UUS S3TUYUS £32UYUS RTINS GRARRRE £52UYUS S5 SE2UYUS SE2UUS 0
)
@ @ @ @ GPF-D028-S Al Aj2t22{ 1216,5'3.8 / 20{2IZ 1 2005 @ @ uF
HPF-D028 FU-38v
R1 Y
szRugs szRuYR szeUls N ”@ N szouys szouys
GPF-D015-250-S JEE]s) M6'0.75P / ZO{ZIZ : 2°01.2 @ @ @ GPF-D028-L Al AfZtEe! 1218'3,8 / 20f=/Z 1 2'00.5 @ @ @ FU-38L 0_I<=
R25 S == R1 e oA E:)
S @MM o SRS SRS ST2es ~ ﬂ@@ ST2HRS STRYeS ﬁoa.
00
GPF-D015-350-S GPF-D028-L2 [R@2) 2'18°5 ) 20/542 12005 2
R25 - - @ @ @ @ Ri5 , F HPF-D028 E32-L16-N FD-L2W FU-38L =
gL
HI_I‘A I‘éod - SE529US S5 SE2ERUS %._Pé',' H|_I'AI‘§ ;‘ e
U B GPF-D015-420-S Rl ME0.75P | Z0f12 - 201.2 @ @ @ R GPF-Do02s-HL el HAER 2SS 2o 2 @ E82-L24S @ @ %
R25 R20 e AN E
= a4 szRuss ssouus ssougs ~ ﬂ'@' © SERYNS sERUes g
ol
GPF-D015-250-L LN MB*0.75P / FOISIZ : 2°0)1.2 @ @ @ @ GPF-D023-LF(SAIZES) e JREEaptruiizN-Horx] @ @ @ @ 3_5<°
R25 % R20 ool . E
N mmammr— EItE EItE szoues sznues = = — szoues szoues szoYss EEERE iod
GPF-D015-350-L J1s¢] MB'0.75P / FO{ZIZ : 2°01.2 @ GPF-D023-LF-HM(10mmI1 & &) (%) K EEERE —
—
w  cme o @ @ @ @ |
N szougs szouss saeuys szouys ~ %ﬁ szouys szouys szouys szougs 3;
— 5
GPF-D015-420-L WKl M6°0.75P / ZO{XIZ : 21,2 @ @ @ @ (el PRN 74p Azt22 29326 /LENS : ©2.8(FA7 ] : 16.1mm) @ @ @ @ %
E— il
R25 % R20 I N 0
N pmmamme—y % sspugs szougs szouse szouge L S szouge szougs szougs szougs ar!'ﬁ
GPF-D016-250 WL M4°0.7P / ZO1ZIZ : 01.6(1/228) @ @ @ @ (el Z PR 74p Alzt=2i 29326 /LENS : @28 A742] : 16.1mm) @ @ @ @
T e e
RS =l e S sEiAl RSO ool .
— szadss szougs szRuus ME R [ j& 77777 - szruus szRuus szegus szeggs o]
(=} /o\ B oF
GPF-D016-350 JEL]s) M4°0.7P / 202 : 01.6(1/228) '—Htf:_* o GPF-D025-105-TB €I REI=SPer gty i=N oy Nrc i ) )
— @ @ e @ @ ® @
) sERYUs STRUS SRS ST2els L q e ST2es ST2HRUS SITRYRS S3TRYRUS LH
e ®
e @ @ @ @ GPF-D025-ST(PTFE)-2.0(x) &) ApzHee 22°35'9 @ @ @ @ uir
IRAE T
= R25 R50 [ —_—
E|'I°=! S SE5RERUS SE52EUS SE2YRUS SE2ERUS A A S SERERUS s3REels s3REels s3RLels
GPF-D015-LP250 Bxds) M6*0.75P / Z0{=|Z : @1.6(1/228) GPF-D052-ST 7§p A 3327'8 E£30-A09 FD-L46 FU-40S N
R25 R20 r’s . oAb oAb oAbTE £l
C—mmmamm— R sE0us s32uls [EEEE ~ @ s32uYs %
0
HEARS GPF-D016-SP250 x{s) M4°0.7P / BOINZ : @1.2(1/228) SIAHIALS GPF-D051-LF ¢} ?_jo
225RIE pog = om———— @ @ @ @ e R20 : @ @ @ @ -
«— P, p—— - Sl
E|'°|=! g WP s I e S52UUS SE2UUZ s52YUS SRR §'7‘| El s l:‘ T EEEERE SERUYUS EERUYUS E32YUS
GPF-D030-SP250 x4 05,5/ 20{=12 1 01.6(1/228) @ @ (eI SNLENE 9 76p  845'38.213/LENSKZ : 010 @ @ @ @
R25 - R25 R 1 .. e
- H.’;".‘v.fm SE2YAUS SERYUS S32YeUs L . sttt T E— —] SE29Us 53293 S329e3 S329els

12 www.fasystem.co.kr (= [JPAES=TTES Y [



/AN HoIX % #

EtAl HIO|HE SSEH ot

/MM Holx R e

EAL Hl0]7{Y SS2H of
OMRON PANASONIC

GPF-S10-250 [R:K]s} Al2ER 26'30°6 / LENS : 02.5

+ 4 e

o
ot
i
n2
£©

>
N
o
o r

SE2EUS

®

ro 1=
T ogh

k=l
e}

GPF-S20-105 k]9

R25

20—
o o
=

®

®

o

2L

GPF-S20-250 K] Abz+22 36'30'6 / LENS : 02.7

R ——)
R25 | I
| ©

e s ———

®

ofn
obt
1
2
9

o

®
®

of
Ot
1
2
9
o

AZBIL OMRON PANASONIC
GPF-D023-LF105 dge] AbztgE 1820'5 @ @ @ @
R25 g § P i
N 2l EERYUS SE2ULS S32YUS 32U
GPF-D023-LF250 dge] Azt 1820'5 £30-186
R25 VZ tataatsatssasz assasssossotar S — @ — @ @
~ § ©o 19000000003 80000080000, J—— ssouys szouUYs
GPF-D023-LF350 dge] Alztge 18205 E30-L64
R25 Ve § titiunbn b . — — FD-H30-L32
~ © Ouuumwmmmwmmiuzl szouys
GPF-D023-LF105-CT-OS(*) [{:s) 2422 15°25%5 @ @
R25 v S -
~ D ¢ szeugs szRuYs

GPF-P200-NT(x) IR

®

o

o

®

GPF-D023-LF250-CT-OS(*) L) Ap2t22! 15'25'5

R25 Pz D 7%§Wémemmmmmmmmmmmw:::)ii:j
~N ) I

®

o

$
a
ne
g9
o

@

F2YAS

&

3
n2
£
oo

ofn
Oh
o
n2
£2
oo

GPF-P301-S6() LI IR PP g E TS v

0oall

on
]
i
n2
£2
o
on
]
i
nz

SE2EAUS SE2EAUS

GPF-D023-LF250-CT [g:]s) 242 18'36'5.5

®

@

& 4
<E!ii:> g ‘E!iis> 2 ‘E!ii;>
n2 n2
5 £
oo o

ef F——e=—
GPF-P301-NT4(5k) J:EJRREIEE R AT TE-L 3
L t
‘r‘}o i 1

ofn
Oh
o
n2
£2
oo

omw
=]
ne
£
oo

o

®
®

o

i
o]
ne
£
oo

R25 par PRI ittt atataioatss I e
N LJ @@uﬂwumummmumﬂﬂ:ﬁ:' saRuNs s32us S329us s329YS
GPF-D023-LF350-CT [g:ls) Al 18'36'5.5 @ E30-L66 @
R25 L - Jnnnoonoonggosnonne— J—— —
< | LJ @@mmmnwwmmmmmm:' szougs — szouys

GPF-T030-S07 KI5 A2i22{ 1953316 / LENS : @10mm

e =

®
®

o
o
i
i
o

GPF-D052-ST105 g Ab2te 33278

R25 Ve e
N

®

o

o
o
o
n2
£2

0

®

o
n2
£2
oo
m
a
n2
£

oo

GPF-D015-SP350-SV-5.0(%) JE[s)

RSB o o =

&
<E!§i:> : <:!§i;>
12
50
o

w0

oo

o
ot
i
n2

®
®

o
ot
i
n2
£©
oo

rop
02
o2 5

fo

kl
mr
2 ro

-

GPF-D052-ST250 J£]s) Af2t=e 33278

R25 <E ©o

®

0

%
]
ne
£2
o

4 4
‘:!ii;> . <E!§i:> : <E!§i:>

n2 n2

£ £2

o o

o

®

®
®

GPF-D052-ST350 £

-
R25 < @

o
n2
£2

oo

A

szouns szoug
E32-A09H2

oo

o

§
n2
£

[eldSS 81p AP2tE2{ 21°27°6 / LENS : 02.5

R20 ig -

®

o
o
2]
2
£
oo

®
®

g
ofY
[}
n2
g2
oo
3
[}
n2

T
T
wW
o
=
<
wn

of
b
a
ne
£9
oo

£
o

GPF-VT07-420-1,.0S JEld

R25 ﬁmﬁﬁmﬁjﬁ@@ﬂ: -—

£
<§> >
H
n2

ofn

o
f
e
50
[T

®
®

on
]
1
n2
£
[T

on
]
[
nz
£2
[T

_mn
T i
- gk

e

GPF-S10 81p Al2t=22 26'30°6 / LENS : 02.5

R20 + l 5
4= &

®

o

cm
a
ne
g2
o

®
®

o

#
12
50
oo
3
1
12
50

3
n2
£
oo

o
ofn
Oh
a
n2
£2
oo

GPF-VT07-250-1.0L 90p

R25

®

ofn
Oh
[
m
£2
[

n
i
i
1z
£
o

GPF-S20 81p AR2H22{ 36°30'6 / LENS : 2.7

R20 Ik

®

o

on
]
)
n2
52

®

]
n2
£2
o
&
Kk
n2

— > 0l

®

£
o
&
Kk
n2
0
o

GPF-VT07-350-1.0L [ehl) M40.7p / 2OI=IZ : §1.2

R25

®
@ g

o
o
o]
ne
£
oo
o
OBl
[l
e
£
oo

GPF-S06-105 [E:¥is) AP2t22{ 21°27°6 / LENS : 02.5

R25 _?ng oo

®

o

i
B
2
50
o

®
®

0f
g
n2
£2
o
8
]

®

nz
£2
o
2
]
n2
£2
o

R25

o 0
E <:!§i:> $E
® [

®
®

o
o
[}
B
[
o
o
i
nz
£
o

ng
ot

GPF-S06-250 [R:¥1s] Al2t= 21727°6 / LENS : 2.5

R25 Jﬁ;Ll_‘ O{}WM‘AWW\HM

®

o

o
o
o
n2
£2

0

®

#
2
£2
oo
w
a
n2
£

®

o
of
o
a
n2
=3

GPF-VT07B-250-1.0 ks M4 X 0.7P / ZOIX|Z : 2012

R25

®

o
ot
i
n2
£©

®

o
ot
[
i

£©
]

K
o
°

GPF-S06-350 &%) A2t 21727°6 / LENS : 02.5

R25 ‘é_':E oo

®

0

nm
]
n2
£2
o

®
®

®

o

®

®
®

GPF-S10-105 k] Aj2t22 26'30'6 / LENS : 02,5

4+ &

®

o
&
i)
n2
89
o

SE29U8 S529g
322U 5248

oo

®

®
®

ofn
o
[
i
£9
oo
ofn
Oh
[
i
£

14 www.fasystem.co.kr

®

o
o
i
1z
0

ot
o
i
12
£

®

[
o
[
1
e
£

2SS

®

=3 SE2YUS

HEAR Sto[H |

s32Yes

|

®

SRS

jolH R

3

®

SHYHIALY

q

T 3jo|H]

Ol ZO|O|A|AEN(E) 15



EtAL HO[7{E SZEH Qhf EtAL HIO|7{E SSEH Qhiy
aE /AN HoIX % # a& /MM Holx R e

OMRON PANASONIC KEYENCE
GPF-VD07-250-1.0S EF] M6"0.75p / 2O : 2°01.2 GPF-VD52-LF250-2.0 JEL]s) 217°3810 / LENS : 07
R25 il e ! R25 I 1T
GPF-VD07-350-1.0S [eHds) M6°0.75p / ZO{XIZ : 2°0)1.2

OMRON PANASONIC KEYENCE

SE2EUS

-

® &
®
®
®
®
®

b
.

4
alo
o
L
o
n2
£2
o
&
Ha
n2
£
o
on
ot
[
n2
*
r
[y
of0

ek

o
o
il
ne
53
[

o
o
il
2
53
[

GPF-VD56-LF250-2.0(0|ASPOTE) JEL SR

®
®
®
®
®
®
®

20
80
ok
-
S
=
=
<0
Ea|
80

R25 & R25 j L —_
*@BW‘%"““WW S 0 EEEEE) szRuYs szauYs szogYs 5 = szogYs szogls szodYs szauYe
GPF-VD07-420-1.0S EK]¢] M6°0.75p / 201214 : 2°01.2 @ @ GPF-VD24-ST105 Jglvs) Ab2t22{ 3020°9 / LENS : 5.3
R25 e T R25 © [ @ @ @ @
SERYAUS SERYAS SERYUS S32Yes D ©e SE2Yels 53293 S32%els S329els =
J
GPF-VD07-250-1.0L K] M6°0.75p / ROIZIZ : 2°01.2 GPF-VD24-ST180 Jglvs) b2t 3020°9 / LENS : 05.3 g
- . ®@ @ ® @ ws @ - @ @ @ @@ ;:
TEE C gy szeuys sz0u%s sz0uus sz0uYs © sseugs sseugs ssaugs ssaugs -:-?1;
= e 9
RN i
E}2l GPF-VD07-350-1.0L REE]] M6°0.75p / ZO{RZ : 2°01.2 @ @ @ @ GPF-VD24-ST250 Rlt)s] AR2t22 30'20'9 / LENS : ©5.3 ut
R25 R25 © @ @ @ @ { )
%h:mmm_p m ssouYs szouys szeuYs s30uls s e sz0uls sz2uls sz2uls szeuls
Zre|
GPF-VD07-420-1 0L ReLls) M6°0.75p / ZO{RIZ : 2°0)1.2 @ @ @ @ HHALEFR] GPF-VD24-ST350 aleile] AR2h22{ 3020°9 / LENS : 05,3 @ @ @ @ 6‘|<:
R25 L] - R25 % oo : =
NS gEmaaaaE——+ — ucﬁi STRLUS SRS SRR ST2Yes @ [BEBBEB0MTE0E ST2Yets ST2LRUS SRS STRYeS ﬁa.
00
GPF-VD0O7B-250-1.0 gELIs) M6"0.75p / RO1AIZ : 201.2 GPF-VD25-ST250 JRIUle Af2t22{ 30'22'9 / LENS : 97 li—
ol
e T @ @ @ @ s O @ @ @ @
e be SE2YUS SE529S SE2EUS s32Eels E s32Eels s3Rgels S3RERS SE2YUS
GPF-VD07B-350-1.0 gLl M6°0.75p / ZOAIZ : 201.2 @ @ GPF-VD25-ST350 Jgleals) AfzZt22] 30°22°9 / LENS : 07 @ @ @ @ X
= oF
R25 H R25 O
@[ﬂmﬂm‘:} T sonpaneesy SERYAUS SERYUS 3RS 32U B 32U EE2YRUS S32Yels s32Yels g
ol
GPF-VD23-LF105 RL]s) @ @ @ @ GPF-VS06-250 mlepds) Af2tE 21°27°6 / LENS : ©2.5 @ @ @ @ W_'(_QQ
R25 o Y B R25 2
B =—— SEDYYUS SEREUS SE2EUS SRS SRS SRS SERYRS SSRGS Wo']
GPF-VD23-LF250 |gEEle @ @ GPF-VS10-250 lepis) Al2t22 26'30'6 / LENS : 02.5 @ @ @ @ —
R25 B 5 o R25 | ~
B = EE2UAS sERUS SE2des SE2dAUS 1 ¢ BOGROA00P00R0RCITIOTI00I0TI0TI0NT SE2dAUs SE2YAUS SE2YAUS SE2YAUS 0':
E)
GPF-VD23-LF350 RL]s) A2t 18°20'5 / LENS : 02.8 @ @ @ @ . GPF-VS20-250 [mlepds] @27 @ @ @ @ g
— oSS [
R25 = I e ot Elo R25 s | g
Eer=y E 2 s52uYs szouYs szouYs szauYs 2= el i szauYs szauYs szayus szauus 1!
_T’_ggl_l'g POSE0R00RGARSIONARSORSIIBIIINATTS an
HEALE}S] (CIL S DPRENPEVE M 96D  Atzi=2! 18'36'5.5/ LENS : 02.8 @ @ @ @ (RS B LA 103p  Alzt=2 2172820 / LENS : 02,5 @ @ @ @
= { )
R25 R25 L= BE=
ssauYs ssauYs s3ouYs EERE Fm szouYs ssouus sszuus ssouus o
oF
GPF-VD23-LF350-CT @ @ @ @ GPF-VS10-250-2 0L JRI0X]oJPNET= SR VR RN Ny @ @ @ @ =
= S
R25 R25 ol
STRAUS SRS ST2es ST2Yels :wmw S ST2Yels ST2LRUS SIRLRS SERYUS a‘(l)
(
GPF-VD33-LF250-EST () Bl R TECREw =N R [clxza. VI 104p FoixZ : 91,0 m|||:
R25 . T3 @ @ @ @ R20 HPF-VAOT @ @ @ L)
i ss2uus ssedss szouYs szouYs sz0uus szouas szouas
GPF-VD50-LF-2.0AC(*) IRl 56°35.4°10 / LENS : 07 rze GPF-VA02 [RILTs EREIERO g;
R25 7 B @ @ H7I= - Rao HPF-VA02-B @ @ @ 5
T | His P saouse ssougs ssouss saouus stole i szouye saouge saeuge %
0
rze GPF-VD50-LF250-TS (%) JRIf¢] 68°3010/ LENS : 07 @ @ @ @ (IR WKEPLVM 104p  Aizt22: 03520/ Zoi=lz : 91.4 @ @ @ ?_413
= 1 K
-T_’—%P_l';g hn'_MI‘ R25 — N R25 —
—DF—XO|.7'I |E|'°| SEDUYUS SERHENUS SE2EYUS SRS — ST2HYUS SRS STRLQS SE2LUS
-
GPF-VD51-LF250-TS (%) BeIfs) 36"30"10 / LENS : @7 @ @ @ Nz GPF-VR105 I M5*0.8P*21 / 2012IZ 01.0 @ @ @ @
R25 1. . 9'||0|§§O71|. R25 —
- S ] E529US S32WYS S529US £329US ATE ! S329US S329US S32US S52UUS

16 www.fasystem.co.kr (0 E=2v [JPNES=TES N g



EFAL Hl0|H'E SS2E 2tuh
ag &/ &M Bolx| R Hat
OMRON PANASONIC KEYENCE

AZBIL
GPF-VR250 Rl M5*0.8P*21 / R0IZ|Z : @1.4 @ @ @ @
R25 =5 g
EE2YeL

7|(_I _g_'g S32YUS 3RS SRS =
ZolESA,

S pR=2 GPF-VR250-1,5-EST (k) BRI LG arid VIS E Rao I @ @ @ @
R25 E:@:mmmmm
2

[T RALKIPLYG 106p M5°0.8P*45 / TOE|Z : 015
! e szougs szouus szRuYs szRuYs

%
o
]
ne
£2
o
&
o
i
ne
£2
o
0

&
o
4
1
ne
£
o

N

— (el ALREPRE G 106p M5*0.8P*45 / 20X : @1.5 @ @ @ @
< g

GPF-VJ05(250C) IRl M50,8P"33,5 / A0|&Z : 01.5 @

@)

P szougs szouys szouds e
GPF-SVL1 108p 04'8.3/ HESNZ 1 028

o e =34 - Q0| QUIE

-
AOIEREZ EEYTEIVICEE 108p 0413/ HBR 028

2

: e S04 30|8 SLIE Yt Etel 20p
Fit 510|H |RLIE LiZ3 Bt 22p
GPF-VL06 108p 08'10/ &S : 07 E215 30|H SUE 22|15 Eol 24p
kM| A2 2%{ @ | Sty 510|H SLIE of|2/0f EY 26p
ot 2| Frod -
E AP EIE S E 30| FLE LINEE EI 29p
+o == GPF-VLO7 109p 01118/ AERXZE : 010 =1 sj0]{ SLIE SE Efol 20
011 810 205 M4X0.7P,DP3.S =L THE = = P
% @ @: EIH 510|H RLIE AO|ER EMY 31p
[ GPF-AT10 | - i oo - FH 30| RLIE AO|ER 128 33p
(el AR 109p M 02213/ 0107028 sae) Zj0(H SIS 1= ure) £l S5
Ao St 30| |LIE 12 EtY 39
- = T3S TH= LT HE p
(el AREN 109p M 022713/ 0137028
R25 - - =
obAA2] .

OE{X|HE  NYTENENERIEPNRITIEIN 100p xiasw:cori4s/013sise

R © @ e—

B EISEE 109p

18 www.fasystem.co.kr




1t =iojH 74

E:

GPF-TO03

=E8H MERE o =xfE = o7y 7olE =Z2|A AE712| =g MERE S| =xfE o = o7y ZolE =Ze2|H AE712 =
=

A~ . g - WLLS80P : 1,200mm A . . = WLLB80P : 855mm =

30T ~ +70C SUS 303 M4 x 0.7p ®1.0 @ 2.2 Optical fiber | 7t HPX-EG : 410mm R20 30T ~ +70T SUS 303 M4 x0.7p ©1.0 @ 2.2 Optical fiber | 7t HPX-EG : 300mm :_5__0

<

@2.2 Optical fiber

‘ )
ol

P12 Z) 18
f

GPF-TO10

[

=

i

( ‘
WY
N

% 2.2 Optical fiber

) §
1 J¢

&

p1(2oi8Z)
2,000 ? ?

* SENSORQ| Z0|= %|4~ 0.5M ~ Z[CH 7M7HX| XM= 7+s

GPF-TO38

MERE

HEALE 8

GPF-TO04

2 MERE S|l =R

Sl =24 Fol7y 7ol =2 HE7z2| =8 Sl =R &=t o7y Alol2 zZ2[ZH 4E7z2|

WLL8OP : 37mm
HPX-EG : 12mm X

WLL8OP : 300mm

HPX-EG : 100mm SUS 304

R15 -30C ~ +70C SUS 303 M3 x 0.5p @05 @ 1.0 Optical fiber ts R10 -30C ~ +70C @15x15 @ 0.25 @ 1.0 Optical fiber ts

! ®1.0 Optical fiber 3l

1. ical fi
®1.0 Optical fiber —VQV— e =l

#2] |

$0.5¢ o457 B8 2,000 | 15 | 1,000 i

GPF-TO05 3

2 MERE S|l =R Sl =t o7y 7ol zZ2[ZH AE7z2|

WLL8OP : 1,200mm 0'-;‘("

R20 -30T ~ +70C HPX-EG : 410mm i

SUS 303 @3x15 @1.0 @ 2.2 Optical fiber | 7}=

@ 2.2 Optical fiber ok
al =

2,000

£ 50|

=)

81.0¢z {8 %)

20 www.fasystem.co.kr OlZOflojA|ARY(E) 21



Ity 20| RUE : Li==5 EfY Ity =i0|H] RUE : =5 EfY

| S slole |UE : xig22 H LZZ ErR GPF-T025 3

122 sfojt] QL|EO| X osud | ABRE | SloAiE A=A F0i74 Aol EEIEY #57z] .

SIO|t AMS AHHJHE 2.0 HE| Fof LXE X250 : )
o |f|1_-'- J_E, ™ "jlﬂi *'—ofEl 4;01 :'L-'-? A 00‘*’11' R2 | -30C~+70C | SUS 303 M4 x 0.7p ?1.0 @ 2.2 Optical fiber | 7t= L%fgg . g?gnr?g =t
HiMo| Mot Z=o| & FOX|X| Fom | ZATt AELICh : =

@2.2 Optical fiber

]
1
(2114 L k) ‘
1

Sef 2tojHF 2

| 18 2,000

0| et E£2t9| Z : 8nm(R4mm) et 250 FEY
TISRoIMOl A ot&: 5008 U7t StEU

Li== 2to[dt 204

GPF-T009 GPF-T046

2 MERE S|l =R Sl =24 o7y 7ol =2 HE7z2| =8 MERE Sl =R &=t Foj7y Alol2 zZ2[ZH 4E7z2|

HEARY &}

R4 | -30C~+70C | SUS304 | @15x15 4x0.25 | ©1.00pticalfiver | b5 | -0 180mm R4 | -30C~+70C | SUS304 | ©15x10 | 4x@0.25 | @1.0Optcalfiber | 7

WLL8OP : 180mm
HPX-EG : 60mm X

oj
50

© 1.0 Optical fiber =<

= 3 " 1.0 Optical fiber =
= iiol
[ : !
\@ q& ® - x ‘
\ 4X00.25¢2 01 ) \ 4X80.25(2 o187

f 15 1,000 | -
10 1,000 | ok

GPF-T024 GPF-T0O50 x

2 MERE S|l =R Sl =t o7y 7ol zZ2[ZH AE7z2| SEE MERE Sl =R &=t Fo{7y Alol2 zZ2[ZH AE72|

Ll
=

RI | -80C~+70C | SUS 304 M3 x 0.5p 05 0 1.0 Optical fiver | 7t | (/o800 1a0mm R | -30C~+70C | SUS303 @ 3x15 @10 | @2.20pticalfiber | 7t

WLL8OP : 900mm
HPX-EG : 310mm <F

®1.0 Optical fiber @ 2.2 Optical fiber ~

L2l
—— o . OF
© + ® 1 | .
- ?1.0(Z oA Z) W?OT
80.5(2 087D ' —15 2,000 00
e 13— 2,000 , %

“ SENSORQ| 40[i= Z|2 0.5M ~ | 7M7HX| M2 Ibs —

22 www.fasystem.co.kr OlZOflojA AR (E) 23



1} 2lo[H FLIE :

=o|8 EY

Ity 0|t RUE :

=o|8 EY

EJIlad 5 o o A ol E
| S slop QU= : 2212 Bl 53
OFF X2 F7I0IN HEL U 4 YUt 2|8 EIY)
HAHZE £229| Uo|, 27752 Sl HE YH=
FX2| 27| et ME7Hs ZLEE
=8t MERE SllERNE /L=ty ez o7y Alo|= =2 HE7z2|
AN~ o M4 x 0.7p s = WLL8OP : 1,200mm
R20 30T ~ +70C SUS 303 (@22 ¢ 1.5) @1.0 @ 2.2 Optical fiber 7Vs HPX-EG : 410mm
2 % 2.2 Optical fiber
/ :‘:I Il [ IF Jf I
/ ! )
15 : 2,000 |
GPF-TOOS8
=8 AE2E SllERNE slEA4 o7y Alol= zZ2[ZH AE71z2|
ar 5 M3 x 0.5p g = WLLS8OP : 300mm
R15 30T ~ +70T SUS 303 (&2 @ 1.0) 0.5 @ 1.0 Optical fiber | 75 HPX-EG : 100mm

?0.5¢20ixZ)

—...

#1 Optical fiber

2,000

24 www.fasystem.co.kr

GPF-TO15

=50 A== S =xE =yt o AolE =Zz2|H AEAE|
A M3 x 0.5p - _ | wLLsoP:37mm
RIO | -80C~+70C | SUS303 | .G ging) @ 0.25 @ 1.0 Optical fiver | 745 | \5x 26 1omm

» \
e
$0.25(204 3%

—n—oe

©1.0 Optical fiber

! 1,000

GPF-TO19

=8 MERE Sl =R sl = o7y Alol2 zZ2[ZH AE712
AN~ . @3x15 I . WLL80P : 300mm
R15 30C ~ +70T SUS 303 (&2|2 0 0.8) @05 @ 1.0 Optical fiber | 7+5 HPX-EG : 100mm

®

?0.5(Z {58

® 1.0 Optical fiber

———————

-

15 1,000

OIZOO[AIARY(F) 25




Sty =H0lH] RUE : 02| EfY it ol RUE : 02| EfY

| 212 stols QLIE : ofz/of Efel £ GPF-T021-TWO8 3

SE4HH A2 SHEXZE =T o7y Aol =z|3 HE712| E?

o —— ; ,_:_ —

62=9| 0|2|0{EF2{C| WideBeamC E At274c =X|X| 11 H=sH|CH . | ALUMINIUM o o ASE 2.44mm =

\ R5 -30TC ~ +70TC (SILVER) 15x15x4 8 x @ 0.265 @ 2.2 Optical fiber = AZE=7{2| : WLL8OP : 390mm =
— HPX-EG : 135mm <0

— 15—
I_4.| § 2'51_ 2- M3X0.5P
"

o

2,5

AN

®2.2 Optical fiber

Van )

2,000

[0]AR 22 HAL [20IT =7 ZE]

Ol210f SHO[Ht RLIER ETHIXI7H HESIX| ¥ 1635 Zako| oJ5 YT0| x|, SEFO|LL

OIAZ 222 S5 ZARE & ALICH THo| W2l BOX|7{Lt 727 YT OHHEHA »
AEFLCL o

GPF-T021 GPF-T026-K

2k NiSEE =X EI=res To|7A Aol= =213 AEHE ==z = =T & EXHE =T oA Aol= E=IEA A&7
HEZ :5.07mm HAEZ:9.9mm )

HE
A'zgl'\l_"\}’%“é;’\" 15x15x4 | 16x0 0265 | @ 2.2 Optical fiber | 7}= | ZAZ7{2] : WLL8OP : 780mm Rs | -30c ~ +70C AL(lsJ|h|f1\|/E|FL4J)M 20x20x4 | 16X @ 0.265 | @ 2.2 Optical fiver | 71= | ZZ7{2] : WLLBOP : 780mm ~
HPX-EG : 270mm HPX-EG : 270mm o

R5 -30TC ~ +70C

20

L4 M3 X 0.5P =)
2-M3X0.5P 2,5 4 o

2,5 g0
| <5 =

i
_ 1
b

i+ 8 N e
—F

o
HEA]

9.

1‘ I NCoRE:16 x 00.265 22R= iiod
| $2.2 Optical fiber —
25 ‘
1

2,000

' ’ )
* SENSORS| Z0[= £|2- 0.5M ~ =T 10M7HX| M%7t

PF-T021-2 GPF-T021-K40 x

HHd AIE2E =S Sl =t o7+ Aolg =z2|A AEAzE| SEHH A2 S| =xHE I=Syes oA Aol Sl EA AE7z|
HEZE 1 2.3mm HAEZE : 40mm

HE
AL(SWE“FE;M 15x15x3 | 9x@025 | @1.3Opticalfiber | 7}= | ZZ7{2] : WLL8OP : 430mm R4 | -30C ~ 4700 (Hétgﬂgéﬁm | 12x57x7 | 19x0025 | 022 Optical fioer | Z7¥5 | ZEA2| : WLLSOP : 780mm oo
HPX-EG : 150mm 9 HPX-EG : 270mm &

2013 Z(BLS) o oF

2 — © =3
. _"‘--_______ & 4 Y= ETUBE,400) olo
Y

Lel] ) <

7
5,07 A4

25

n
]“

N ®2.2 Optical fiber

)
7
A\

L Wan Y

2,5

|

16X@0.265(2 015 Z)

4,5

2,000

R5 -30TC ~ +70C

2 22 CORE: 19x20.25

iy

M EOHEHGPF-H13-LS)

2-M3x0.5P

—
15 (u/
254+

an)
A

15—
o
!
I

"o

o
A
o0
1
|=.
o

9XP0.25¢(2AIZ) St 27
uuuuu 57 1,500

26 www.fasystem.co.kr OIZOlOA|ARY(E) 27



=13 310|H QLIE : 0f|2|0f EFY £t 210[H 7LIE : LINEE EfE

T -lo

|

Al

GPF-T021-K60 GPF-T021-L40

A&7z =8 AMER2E =S = Foj7d 7lolE

Y

[EI
n
Y

2 ><7.| E|
HEZ : 40mm
Z|AEIZ  35mmAA 1.4mm
HE7{2| - WLLBOP : 3,500mm

I3
n
T

=& AMERE S| =R =yt Foj74 7ol

= :60mm ALUMINIUM 19x @ 0.25

ALUMINIUM . 2 ) i
7{2] : WLLBOP : 2,300mm R4 | =300 ~+70C | i Anodizing) | 20 %98 X7 | (LENS 40mm)

(Hard Anodizing) 12x78x7 19x @ 0.25 | @ 2.2 Optical fiber 7: @ 2.2 Optical fiber

il
N
olr
THT
N
olr

R4 -30C ~ +70C

M HOIX] H 2

ey
==
=
=

EE

67 LENS(40)

g =

CORE: 19x20.25

7 | L i
760—]
1—;— 2.2 OPTICAL FIBER CABLE(R4mm)
K] © ©
1
3 72 27 —

78 2,000

67 2% % (40mm) /

2.2 Optical fiber cable (R4mm)
o e

—
63  E—
i
s 45 [: o7

56 2,000

GPF-T021-A100 GPF-T021-L60

SERH ARB2E =X | =t o7y Aol =l HE71E] ZE8HH AE2E =X = o7y AHol& =z|% HE712|
HEZ :62mm ‘o

@ 2.2 Optical fiber | 27l | ZIARIZE : 35mmoi|A] 1.4mm oD,
(LENS 76mm) Z=7{2] : WLL8OP : 3,500mm o

al =
LENS(76) =)

2301 2(R35mm)
#0.25x125
Il
—
ane ma e —=—
b 100 |
2 -24.1
20 — 2.2 Optical fiber(R35mm)
| g 10 ? =S
34
Jﬁﬁ 27—
120 155 | 19— 2,000

GPF-T021-A100(R2) 5

=& MERE S|l =R Sl =t o7y 7ol zZ2[ZH AE7z2|

. ) oo | AEZ 1100 5 .
20x120x7 | 125x @ 0.25 | @ 2.2 Optical fiver | 2715 Jéﬂal :WTE;OP - 500, Ra | -300 - +70c (HA?JIIF(;JKAAEIC;E:\:Q) soxsox75 | 19%0025

ALUMINIUM

R3S | 80T ~+70C | 1rd Anodizing)

—
75 | e == B0

|

$2.2 Optical fiber cable (R4mm) T«
lo & K

-4 c
L
&

e

=8
HH
ol
@
N
N

7 82 2,000

ALUMINIUM
(Hard Anodizing)

HEE
&= 1 100mm 0o

20x120x7 | 125x @ 0.25 | @ 2.2 Optical fiber | 27t= AZ=712] - WLLSOP : 900mm i

R2 -30TC ~ +70C

90.25x125

- | e = " s
b 100 i Eo)
= 3

.
~

2 241 T

$2.2 Optical fiber(R2mm) K-

T ¥ e ?
3
.8 27—
120 155 | 19— 2,000

o T¢

28 www.fasystem.co.kr OIZOflOJA|ARY(E) 29



Ity =0l RUE Tt 2l0|H] FLE  AOIER EIY

EJllad S o - = ol
| =218 stoi QUE : =& By GPE-TO07 §
B0
' I=0A Al2=2E & =XHE 5| =rA TN Alo|2 =2|% 2= EK_K
=)
g S @25%12 _ . | WLL8OP: 165mm =
g R15 30T ~ +70T SUS 3083 (2212 0 1x15) ? 0.5 @ 1.0 Optical fiber s HPX-EG : 55mm ;“T)
n E
l 00
Fa54 15

n
Tr o 1.0 Optical fiber

o
-
15 ‘ 1A ‘ 5000

15 1e- 2000

“

LEAF 2| DYLEAL AR

GPF-T025B GPF-T007-2

HEARY &}

=& MERE S|l =R Sl =24 Fol7y 7ol =2 HE7z2| =8 MERE Sl =R sl = o7y Alol2 z2|A AE712
Car . - _ WLL80P : 900mm A . @3x15 I . WLL80P : 330mm
R2 30C ~ +70C SUS 303 M4 x 0.7p @1.0 @ 2.2 Optical fiber | 75 HPX-EG : 310mm R20 30C ~ +70T SUS 303 (22120 15x15) @1.0 @ 1.3 Optical fiber | 7t5 HPX-EG : 110mm gg
Eo)
M2.6X0.5 &

1.3 Optical fiber

oS 93 +|'1'3 70
M4X0.7 =] =3

#2.2 Optical fiber !
15 2,000 R0

14,4

PL(2oinZ)

@ o

)] ]
1(

951
o
T

“ SENSORQ| Z0[= Z|2 0.5M ~ Z|TH 7M7HA| M|Zt Jts

PF-T1IN) GPF-TO07-SE 5

e s 20174 Aol EEEY za&72) ey | Alges | slcH =72 074 Aolg B Azl
WLLS8OP : 780mm

e e — = e e @ 25x12
R5 30C ~+70C |  SUS 303 M4x0.7p | 16x 30265 | @22 Opticalfiver | 715 | |5 on 50t RIS | -80C~+70C | SUSB08 | 5507 ¢

2

||

|

o

WLL8OP : 165mm

@ 0.5 @ 1.0 Optical fiber | 7t= HPX-EG : 55mm i

M2.:6X0.5

E srsw 9es 8 s 1.0 Optical fiber v
M4X0.7 - sy a4
2.2 Optical fiber oo ' s R o000 -

16X80.265( 012 ]

@ 9 2,000

14,4

4,4

~.

25

e
n

162

i

]
S E 3

30 www.fasystem.co.kr Ol OO A[AEN(ZF) 31



1t 2l0[H FLIE  AMOIER 128

GPF-TO07-5 GPF-T007-250 pXilae H

=& MERE S|l =X &= Foi7d #ol2 z2[A AE72| =8 AMER2E =S = o7y 7lolE z2|A AE712 "?
AN~ . @3 x15 I _ WLL8OP : 330mm -60T ~ +200CT @4X15 o wo | WLL8OP : 330mm %

R20 30C ~ +70T SUS 303 (2212 31510 ©1.0 @ 2.2 Optical fiber | 7t HPX-EG : 110mm R25 (MAX 250%) SUS 303 (222 0 3X20) AOIER(@2) | @29SUSTUBE | =7t HPX-EG : 110mm 1_<__0

3

$2.2 Optical fiber

l'l'l'l'l’,l.l’ l'l’l'l

¢Oﬂ¢3 PT
f £E— ——

—1 @3

°°"i | & n %1
I 10
@1.0¢20i8)Z)
i { ]

ﬂ

GPF-TO26(WZ2=5%) el 1 (S FATPI ] 250°C :

=& MERE S|l =R Sl =24 o7y 7ol =2 HE7z2| =8 MERE Sl =R &=t Foj7y Alol2 z2|A 4E7z2|

o o @ 25x12 . " WLL8O0P : 52 -60T ~ +200C @21 X12
R - ~ +71 = == 9 = .
1 30T ~ +70TC SUS 303 ( A E—l @ 1x 15) @ 0.5 @ 1.0 Optlcal fiber |'o PX-EG : 20 R25 (M AX 2500:) SUS 303 (. | @12)(27) |-O| Tr((Z) 0. ) (Zj 2.3 SUS TUBE §7+O WLL8OP : 70 oj;

n
o 1.0 Optical fiber Optical glass fiber (Heat resistant 200°C(MAX:250°C)

With $2.3 SUS protective armor =
ol
40 ‘ 000 e 2 )
- % 2 - 3 2
15 ie 2l T, S X
s A A _!_
27

251 S —
[; NEY a5 «
5 oF
N E)

EE=S 2
iof

2. 70.0
340.3
g

\0

GPF-T026-2(LI2328)

=& MERE S|l =R Sl =t o7y 7ol zZ2[ZH AE7z2| SEE MERE Sl =R &=t Fo{7y Alol2 zZ2|A AE72|

. . e WLL8OP : 52mm -60T ~ +200C @27X12 -
- ~ = A [ =] = .
R1 30T ~ +70C SUS 303 1.6x1.8x15 @05 @ 1.0 Optical fiber 7ls HPX-EG : 20 R25 (MAX 250%) SUS 303 (22|20 12X27) IOIER(©@ 0.9)| @2.3SUSTUBE | £7t5 WLL8OP : 70mm ojo

M 7£0.1
3+0.3

-H- 1,2
2.2—

—1.8 * ae
s R
B }

2 27t 120.5 155¢+20,-0) +1,0——1520.5— ok

|
)
Hhos 2— 1.0 Optical Fiber
—LLL?S (Ultra Bend—resistant R1mm)

0.3
2

B, a2

o

leal

12
Hp. 7401

1.8+

271 12+0.5 25¢+20,~0; 61, 15£0.5—

15 2,000

32 www.fasystem.co.kr Ol ZOOJA[ARZF) 33



Eitd 3l0|H RLIE : AO|IER 128 QUE: |2 WS E

GPF-TH04S-27V2(x) pEls)e
=& MERE =S =Syt Hol7H 7ol AE712|

-60C ~ 1 siASE ALAN| XSS HES] EFOl ETIlSd © ol |IE
oo’ | sussos | BZE o=@ 0.9)| @ 1.6 PTFETUBE | E7k5 | WLLBOP: 70mm Baeh S0 Heeh 5 B Rty 2t0|H FLIE

[ ]
4m
X
ook
Log
o
3

0
i
[m

T
ogh
m
16
im
(0}l

I3
n
T

ofr

R25

Optical glass fiber (Heat resistant 200°C(MAX:250°C)
With @ 1.6 PTFE TUBE i| =]
® T

AT HATH AAC| XTIoH HIG ZHZAZ L Flo|H QL|E!
g ol

| 8ol Shet

=
nHl
[
m
i
19
X
3
=
u
o
Tl
=l>|=|
JI'I1
_O'E
2
ﬁ
qr
o T

H1,2
2.5£0.1

%ﬁ?——‘—a& 2 V-&

c.e—

27+t 12+0.5 155(+20,-0)0———611.0-——15+£0.5—

215

GPF-THO04S-27V3(x) pklee

zgwd | Ages | oA A= D074 Aolg Zajy #zvie|

-60TC ~ +200C
(MAX 250T)

@25X12

A [ — | o .
(2|2 012X27) IO|ES(@ 0.9)| @ 1.6 PTFETUBE | €7} | WLL8OP: 70mm

SUS 303

+1,2

I S

: — . — -
[\
o

274t 120, 155¢+20,-0 +1,0—15£0.5——
%ﬁiﬁ—__—i_a 215 ol
E ™
4 0

S

(
.

22
b

271 120.5 225(+20,-00——6£1.0+

15+0,5—
Eo)

GPF-T028-LF .

SEE MERE Sl =R sl o7y Alol2 zZ2[ZH AE72|

. . = WLLB0P : 250mm
16 X7 X4 @05 @ 1.0 Optical fiber 7ts HPX-EG : 90mm (jl(-)

ACETAL

R1 -30T ~ +70TC (BLACK)

Faq 2
e

ks

| —e-escann 2- 1.0 Optical Fiber X
(Cltra Bend-resistant R1mm)

1
‘ AT
| S
A )‘K / [i:()}
Ho
Krd
$0.5 (ZoimZ) =7 1000

¢

CXE,

¢

34 www.fasystem.co.kr olZoflolA | AR E) 35



Fild =l0|H RUE : ==, 4

GPF-TO28-LF-B

SEUHA AEB2E S| =XE | =rtA o7 7ol2 iR HEAE|
| SUS303 Eme:g05 | ST @ 1.0O0ptical fiber | . | WLLSOP : 670mm
R1,R20 | -80C ~+70C | \oepn miack)| MAX07P | ams 10 | 235 ¢ 22 Optical fiber | = | HPX-EG : 230mm

2- ¢1.0 Optical Fiber
(Ultra Bend-resistant Rlmm)

1,

2.2 Optical fiber

2
#C i

|

GPF-T028-LF-S

| R

=& MERE S|l =R Sl =24 Fol7y 7ol =2 AE712|
. . ACETAL e = WLL8OP : 250mm
R1 30T ~ +70T (BLACK) 16 X7 X4 2 0.5 @ 1.0 Optical fiber | 75 HPX-EG : 90mm

AN
o—llss

?0.5 (ZoinZ)

| _—2-¢3.1 ZAlDIel

2-¢1.0 Optical Fiber
(Ultra Bend-resistant R 1mm)

GPF-T028-LF-HM

=& MERE S|l =R Sl =t Fol7y 7ol zZ2[ZH AE7z2|
. . ACETAL e e WLLS8OP : 1,200mm
R20 30C ~ +70C (BLACK) 16 X7 X4 ©1.0 @ 2.2 Optical fiber | 75 HPX-EG : 410mm

L
b—o—ftas

810 (ZoinZ>

@2.2 Optical fiber

g%-@(ﬂ ELE
R

36 www.fasystem.co.kr

GPF-TO28-LF-HS

IEUA AZ=2E & =XHE 5= oA Aol2 =2|% Z=2E]
. . ACETAL ) ) : WLL8O0P : 250mm
R1 -30C ~ +70C (BLACK) 85X 12X4 @ 0.5 @ 1.0 Optical fiber s HPX-EG : 90mm
et
44 POSCEoA%Z 6—l 2-$3.8,622 counter
ER
1 @?4
ks
—12 1,000
e G
o o
GPF-TO28-LF-RTS
=4t ALB2E & EXHE =T Toj74A AHol= Et=IEA| AE72
N . ACETAL . ) = WLL8OP : 250mm
R1 30T ~ +70C (BLACK) 8X142X4 @ 0.5 @ 1.0 Optical fiber ts HPX-EG : 90mm
2-¢2.2 THRU
o O L
|
FHeY
'A CORE: #0.5 _fuﬂs
2 b 11
—14,2 00!
GPF-T028-LF-WIN-2
==z ALBRE & =EXHE s|=rA oA Aol2 E=IEA A&7
. 5 ACETAL . ) — WLL8OP : 250mm
R1 30T ~ +70T (BLACK) 8X142X4 ? 0.5 @ 1.0 Optical fiber S HPX-EG : 90mm
N 2-¢2.2 THRU
3 s—18 1.0 Optical Fiber
| ﬂ} (Ultra Bend-resistant R 1mm)
13
~ cove: 508 B o35
) 3 NI
14,2
ZEUH A= =2E =N sl=w4 o Aol=2 =2 AE712
. 5 ACETAL ) ) : WLL8O0P : 250mm
R1 -30C ~ +70C BLACK) 8X12X3 ?0.5 @ 1.0 Optical fiber | 7t HPX-EG : 90mm

ZCORE 90.5

®1.0 Optical Fiber
(Ultra Bend-resistant R 1mm)

2,25+ 7,5 e
o

2-038-0227128

1,000

3

Y

M HOIX] H 2

EE

o
60

OlZOOJAIARYE) 37



E1f3 510 SLIE : 2T

HF

=

GPF-T028-LF-LH

g0y | AgeE | scwE

=yt

Foj74

7ol zZ2[Z

AE712

ACETAL

R1 -30C ~ +70C (BLACK)

8.5X12X4

©0.5

@ 1.0 Optical fiber s

WLLS8O0P : 250mm
HPX-EG : 90mm

Yy

|—8,5
FH‘J]

-4

4
&
@

#1.0 Optical Fiber
(Ultra Bend-resistant R 1mm)

© d
7,54

\%

2,4

1,000

12
12

GPF-T028-LF-WIN

=& MERE S|l =R

I ¢

Sl =24

o7y

7ol =Z2|A

AE712|

ACETAL

R1 -30TC ~ +70TC (BLACK)

7X11.16X6.17

205

@ 1.0 Optical fiber | 7}=

WLL80P : 250mm
HPX-EG : 900mm

03 1_'|

HE5i::5

2
[HLIKS

MM

315

]

—617—

2-M25822¢ ;
\

A
g2

\— CORE: @0.5

St 210|H FLIE : DHEERY

GPF-T030

g9y | Ages | o

3l =t

Foi7y

7ol =2/

AE712

ALUMINIUM

R10 -30TC ~ +70C (BLACK)

12X 18 X5

©0.25
(LENS @ 2.8)

@ 1.0 Optical fiver | 7t=

WLLB0P : 500mm
HPX-EG : 180mm

S

128 WEH o201

-—

S W E 20| 2 350K
D20 M HOIHE SHASHA HAt

350°C 01442] T201A AAIZIE lolZ) BFOIM loiniE
UHHO R 24 7150| 2 AHBO| FHSBLICE

moS=

Sl =R &=t Foj7y Alol2 z2|A 4E7z2|

-40T ~ +105C

WLLB0P : 690mm

SUS 303 HPX-EG : 240mm

M4 X 0.7P ?1.0 @ 2.2 Optical fiber s

@2.2 Optical fiber (Heat resistant 105C )

)] )
14

B1(2AH )

000

,000

“ SENSORQ| Zo|= |4~ 0.5M ~ Z|Ci 10M 7HX| M|z Jts

GPF-TO17 180°C

AIZ2E

SlERNE

=T

20174

Alol2 zZ2|A AE72|

-60C ~ +150T
(MAX 1807)

SUS 303 M4 X 0.7P

?1.5

@ 2.2 Optical fiber
(EaTX|Ls)

WLL80P : 1,200mm
HPX-EG : 410mm

@ 2.2 Optical fiber( Heat resistant -60C ~ +150°C, Max:180°C)

@ef}

M Ho|X] H

EE

LENS #1.0 Optical fiber

® =i ;
AN 5

#1.5(2048 ) 0

12

3.4
7y
\&/
7\
e/

2-¢3.1 HAl0e|

* SENSORQ| Z0|= |2~ 0.5M ~ Z|CH 10M 7HX| M| & 7=

1,000

38 www.fasystem.co.kr Ol ZoO|A[AEZF) 39



PF-TO14-250-S [psle

389y | Ages | slcwi s 2017y Aolg ESEY #a7iz)
-60C ~ +200T @ 1.2(20{xH) - | WLL8BOP : 660mm
R25 (Max 2507) SUS 303 M4 X 0.7P (@ 0.05 x 400, Glass fiber) @29SUSTUBE | =75 HPX-EG : 220mm

S

#1.2(ZoiNZ)
($0.05x400, Glass fiber>

M2,6X0.45P

-Optical glass fiber (Heat resistant -60°C~+200°C, Max: 250°C)
With 2.9 SUS protective armor

R R

i e e
[

“ SENSOR2| Z0[= %[~ 0.5M ~ Z|Ti 10M 7HX| H| % 7hs

PF-TO14-350-S [Ekju)e

el EEET H=72 2074 Aol SN Azl
-60TC ~ +300C @ 1.2(20{xZH) = | WLL8BOP : 660mm
R25 (Max 350C) SUS 303 M4 X0.7P (@ 0.05 x 400, Glass fiber) 029SUSTUBE | =7ts HPX-EG : 220mm

ple(Zoinz)
<#0.05x400, Glass fiber>

THHHHH A

Optical glass fiber (Heat resistant ~60°C~+300°C, Max: 350°C)
With 82.9 SUS protective armor

1111117 — e

l_l3—l_lﬁ—

* SENSORQ| Z0[= £|2- 0.5M ~ =i 10M 7HX| M| & 7bs

PF-T014-420-S [:¥iue

zgwd | Ages | slcAi s 20i74Y Aol EEEN za7e)
-60C ~ +400TC @ 1.2(20{2A) = | WLL8OP : 660mm
R25 (Max 4207C) SUS 303 M4 X0.7P (@ 0.05 x 400, Glass fiber) @2.9SUSTUBE | =7ts HPX-EG : 220mm

©

#1.2(2 {87
(#0.05x400, Glass floer)

Optical glass fiber (Heat resistant -60°C~+400°C, Max: 420°C)
With @2.9 SUS protective armor

L —-
[—

* SENSOR2| Z0[= %|2 0.5M ~ Z|Cf 10M 7HA| M| & 7S

40 www.fasystem.co.kr

GPF-T014-250-L

250°C

4=4HA AlB2E S| =XfE s|=mA Toj7A Aol =2|x A=
-60T ~ +200C P 1.2(20H&Z) = | WLLBOP : 660mm
R25 (Max 250C) SUS 303 M4 X0.7P (@ 0.05 x 400, Glass fiber) @298USTUBE | =7t5 HPX-EG : 220mm

(o)
o/

g1.2(2oi8 %)
(80.05x400, Glass fiver)

&)

M2.6x0.45P

-Optical glass fiber (Heat resistant ~60°C~+200°C, Max: 250°C)

With #2.9 SUS protective armor

M

OO0 A )

13

+t2a2

* SENSOR2| Z0|= Z|4 0.5M ~ Z|CH 10M 7HX| ®|ZH 7t

GPF-TO14-350-L

350C

el EET =7 Fo7y AHolz BN Azl
-60T ~ +300C @ 1.2(20421A) = | WLLBOP : 660mm
R25 (Max 350C) SUS 303 M4 X0.7P (@ 0.05 x 400, Glass fiber) 0298USTUBE | =7kS HPX-EG : 220mm

©

\y

o/
21.2¢20{8Z)

($0.05%400, Glass fiber)

M2.6x0.45P

Optical glass fiber (Heat resistant -60°C~+300°C, Max:350°C)

With 82.9 SUS protective armor

MHHHHHTH |

+t2.2

OO

13

* SENSORQ| ZI0o|E= |4 0.5M ~ Z[Ci 10M 7HX| M| Xt T

GPF-TO14-420-L [gyiae

Ig0y | AlgeE | scHE = e Aolg EEEY #s7iz)
-60C ~ +400C @ 1.2(20{2H) = | WLLBOP : 660mm
R25 (Max 420C) SUS 303 M4 X0.7P (@ 0.05 x 400, Glass fiber) ©29SUSTUBE | =7ts HPX-EG : 220mm

pr.eczo sz
<$005x400, Glass Fiber>

20

M2.6x0.45P

-Optical glass fiber (Heat resistant ~60°C~+400°C, Max:420°C)
With 2.9 SUS protective armor

+Hee

* SENSORQ| Zlo|= Z|2 0.5M ~ Z|CH 10M 7HX| ®| &} Jt=

3

fM TO|X] &

RS

o
60

OlZOfloJ A ARY(F) 41



GPF-T014-SM250-L p&lele

= A2z S|l =x)= = A7 Aolg =23 AE7{2
-60C ~ +200C @ 1.2(20{=1A) woie | WLL8OP : 660mm
R25 (Max 250C) SUS 808 paxiz (@ 0.05 x 400, Glass fiber) @29SUSTUBE | &7ts HPX-EG : 220mm
4)) Optical glass fiber (Heat resistant ~60°C~+200°C, Max: 250°C)
With 2.9 SUS protective armor

422

2,000

#l2(ZoinZ)

* SENSORZ| Z0J= #[2> 0.5M ~ &

CH 10M 77}R] M| & 7S

GPF-TO14-350-HL [Eijoe

=& MERE S|l =R Sl =24 Fol7y 7ol =22 HAE712
-60TC ~ +300C @ 1.2(20{xZH) =5 | WLL8OP : 660mm
R25 (Max 350°C) SUS 303  |M4XO0.7P X 30 (@ 0.05 x 400, Glass fiber) @29SUSTUBE | =75 HPX-EG : 220mm

R

Optical glass fiber (Heat resistant -60°C~+200°C, Max: 250°C)
With @2.9 SUS protective armor

4/ \ T HHE I H o
1@; ne.6] - | D> FORRF O GRO-OHOR RO OO P OO ] o
N
3 17 34—
gl.e(zoisz)
(®0.05x400, Glass fiber) 30 2,000
* SENSOR2| Ziol= #[2 0.5M ~ Z|Tif 10M 7HX| M| = J1s
o
GPF-T014-SV250-UK jpiiexe
=84 AER2E Sl =xE /L=ty eE o7y Aolg =2|A A&7z
-60C ~ +200C Alo|ER2I = Abx} ol WLLS8OP : 1,650mm
R25 (Max 250°C) SUS 303 @ 4X28 LENS XIZ : @ 2 @ 2.9 SUS TUBE =7t HPX-EG : 550mm

i

* SENSOR2| Z0|= %|2 0.5M ~ Z|Cf 10M 7HA| M| & 7S

42 www.fasystem.co.kr

GPF-T025B-250-2.0 p&lxe

=4 AB2E of| =XHE =14 A7 7ol= EiEA] HEAE|
-60C ~ +200C 0 1.2(20{21Z) oo | wiLsoP : 660mm
R25 | (max 2500) | SUS303 M4 X0.7P (050,05 x 400, Glass fiber) | © 29 SUSTUBE | 715 | oy £+ 200mm

13

M2.6x0.45P

/ M4x0.7P

— 10—

S2

—10—»3J

—13—f

14—

* SENSORQ| Hol=

2,000
2,

Z[2~ 0.5M ~ Z|CH 10M 7HX| M= Obs

GPF-T025B-350-2.0 jEkloe

=8 MERE Sl =R &=t o7y 7ol zZ2[ZH AE712|
-60T ~ +300C @ 1.2(20{2H) = | WLLBOP : 660mm
R25 (MAX 350%) SUS 303 M4 X 0.7P (@ 0.05 x 400, Glass fiber) @29SUSTUBE | 7= HPX-EG : 220mm

13

M2.6x0.45P

/ M4x0.7P

— 10—

5,2

—10—'3~j

13—

14—

* SENSOR2| Z0[= %[ 0.5M ~ Z|Cf 10M 7HA| M|ZH 7Hs

OlZOOJAIAEN(E) 43



HIAFY - LLO|H JLIE

=
=
o
ton

O|H FLIE 2t EfE
0| RUE =5 EfY
O|H RLIE &2/ Etel
O|H FLIE 0f[2]0f Bt
O|H RLE S= B
O|H RUE & Bt

}
}
}
f
}
f
HIAN 3H0[H RLIE
f
}
}
}
}
}

re r
o
gl og
for o

=
)
ogt
foi

=2

[m

3
ol QLIE 22 A2 Efe
ot SLIE
ot QLIE
ot SLIE
ol SLIE
ol SLIE

o
=72 Bty
o

|
=]

pEL]

UMy
T m
I°

= I = O I 1
Im

m

© m

ro ro ro rio 1 J

mr my > m
T

45p
46p
48p
51p
52p
54p
56p
58p
60p
62p
66p
67p
69p

GPF-D002

SEHH AZ=2E =N &= o7y Aolg z2| AEAE|
5 . o = WLL8OP : 400mm
R20 30C ~ +70C SUS 303 M6 X 0.75P 2x@1.0 @ 2.2 Optical fiber | 7t= HPX-EG : 150mm

®2.2 Optical fiber
5 3t ]
% ——
S 3 3t
2XB1Tolm ) .
GPF-D0O03

ZE0HA ALB2E S| =x4E o =t Toj74A Aol= 2| AS7]2
o . . . . WLL8O0P : 1056mm

R15 -30C ~ +70TC SUS 303 M4 X 0.7P 2x @05 @ 1.0 Optical fiber Its HPX-EG : 43mm

=

2X30.5¢T ot

e

@ 1.0 Optical fiber

GPF-D004

I EE T Aolg ERE #s7z]
o N . . — WLL8OP : 106mm
R15 -80T ~ +70C SUS 303 M3 X0.5P X 12 2x@05 @ 1.0 Optical fiber | 7t= HPX-EG : 43mm

@ 1.0 Optical fiber

2.000-

zgwy | ag2e | scmm [ scpE [ 2oy Aol ESTEN #8742l
. 5 I = WLL8OP : 106mm
R15 -30C ~ +70C SUS 303 @3X15 2x@0.5 @ 1.0 Optical fiber It HPX-EG : 43mm

N

2X@0.5¢2 o™ 7

a3
L]

1.0 Optical fiber

|

S M HO|X| & Y

|

L
A

SHYHIALY BolH |

£4+8E 0/t % I HEEE LD I

I

=
ok

o
0

R

OlZ0l 0| A| AEN(E) 45



HiAL 20|H RUE : LiZ= EfY HIALE 2l0|H |RLIE @ LIZS EtY

| HIAR j01 QLIE : LiZZ EfR £ GPF-D030 -

=g MERE = = o7y Alolg zZ2|A AE712 =

5 5 =
SIARY 3lo|] FLIES| HH u u - _ | WLL8OP:210mm F
sfo|t AMS AHHJHE 22 HE| o LXE iH%’ﬁl'o:I R2 -30C ~ +70TC SUS 303 M6 X 0.75P 2x@1.0 @ 2.2 Optical fiber s HPX-EG : 85mm z

‘L= T

12| Mo ZHol T BARIX| FoH FIFo| HA7t YL z

®2.2 Optical fiber ( )

3t ]

Z2j 5to|HF 70

/
/
& &t

2XB1( oA 7

2,000

F0] At E2t9| Z : 8mn(R4m) et 2F0: FEe
T SROIMO] A 5H5: 5008 Y7t YSLICL

Li=2% 2fo[Ht 504

GPF-D029 GPF-D036

el EE S 2074 Aolg EEEY #s7iz) eI EEET =72 20174 Aolg EEEY Azl

WLL8O0P : 140mm
HPX-EG : 60mm

ol fi 7 13— 70
@ 1.0 Optical fiber ‘ 7‘._%
7 o } 2.2 )
. : e ! RO
- Z e ol
(@) ’ S
® 8 - S e Ml = —— m
= X 4XP0.25(2 015 Z) 15 15
# : 70 =

1,000 1,000

-30C-+70C | SUS303 | @15X15 | 4x@025 | @ 1.0Opticalfiver | Zops | /L8O 20mm »

R1 -30C ~ +70C SUS 303 M3 X0.5P X 12 2x@0.5 @ 1.0 Optical fiber | 7} HPX-EG : 8mm

or
)
~

n
x
3N
o
A7)
i &)
2
g

GPF-D029-2 GPF-D046 %

Eitd MERE SlI=RE 3l =74 o7y Aol2 z2[H AE72| =E8E MERE SRR &=t o7y Alol2 zZ2A AE712

= sto[H]

2x@0.25 | @1.00ptical fiber | E7t5 LVFE;?EOE f imm o

WLL80P : 140mm -30C ~ +70C SUS 303 @15X15

R1 -30C ~ +70T SUS 303 @3X15 2x@0.5 @ 1.0 Optical fiber 7t HPX-EG : 60mm (22lE 008X4)

ofr
e
o

% 1.0 Optical fiber

B s @1 Optical fiber I oF
% —
Fad—1s—] &

—15—

sl
2XB0.5¢z 01 Z) L—ls_ ) 2XP0.25(2 0187

1000
1,0 1,000 Kl

ﬁ

N
>
=3

46 www.fasystem.co.kr Ol ZZGOJA|ARNZF) 47



| A Sj0|H RLIE : 22 Efe)

Ed S0l SI0|HE 70| F2 & 5= YSM S22

EX|
=1 o

o
=]
ujn
[P
o
Kell
K=
k]
Ho
uok
=€
30
>
-
0

GPF-D015-SP250-L GPF-D015 GPF-D016-SP250 GPF-D007 GPF-D019 GPF-D010
=891y | Age= Sl=xp s=72 F0j74 Aol TR As72|
. . M3 X0.5P e _ WLL8OP : 105mm
R15 -30C ~ +70TC SUS 303 (2212 0 15XD) 2xQ00.5 @ 1.0 Optical fiber ts HPX-EG : 43mm

AN

®1.0 Optical fiber

GPF-D0O06

SEH AlZS2E Sl =xE Sl =t o7 Aolg =z2|A AE7zE|
: . M6 X 0.75P - . | wLL8OP : 400mm
R20 | -80C~+70C | SUSS03 |poimgrosxyy| 2X@ 10 | @220ptcalfiber | 7kS | piy EG - 150mm

(@

2Xp1 (ZoinZ)

25 SUS TUBE

2.5

it

@2.20ptical fiker

48 www.fasystem.co.kr

GPF-D006-SP20-5.0(*) 2
JEUH NE=E El=NES sl=724 o7y Aol= AE712 EK_K
S
AN~ . M6 X 0.75P _ WLL8OP : 400mm =
R20 30T ~ +70C SUS 303 (&2]2 0 3% 20) 2x@1.0 @ 2.2 Optical fiber HPX-EG : 150mm ;'-‘_5
)
80
s2.20ptical fiber )
96‘ Q’b )1}
I = — X
N — — o
— ~ E)
| :
2X01 (2o 7) : 0
=
13
SEHH A2 =N sl=w4 o7 Aol= AE71=
. . M4 X 0.7P . ) WLL8BOP : 105mm
R15 30C ~ +70C SUS 303 (2212 0 15X3) 2x@0.5 @ 1.0 Optical fiber HPX-EG : 43mm g;
E:)
=
o
#1 Optical fiber @
2
1.5 SUS TUBE 20
~ — ﬁj
‘\ S
2X$0.5¢20imZ) 35 15
> X
ok
E:S
o
ol
00
T
afl
—
GPF-D009 %
=EHH A2 & EXHE sl=ew4 o7 Aol= AE712| g
o
AN~ . @ 3X15 . ) WLL8OP : 105mm o
R15 30T ~ +70TC SUS 303 (22|20 15X15) 2x@0.5 @ 1.0 Optical fiber HPX-EG : 43mm giﬁ
ujr
—
#1.0 Optical fiber
X
N 1.5 SUS TUBE oF
& H :
—— ' )
o
2X90.5¢(2 0157 T o0
Ho
wl

OlZOOJA[AEN(E) 49




HiAL 20|H RUE @ S8 EfY HIALY 2l0|H FLIE @ O[2]0] Bt

GPF-DO10
=54 AZ22E S =ExE slE7H o7y Aolg E=IEA A&7z EK_K
=
Can . M3 X 0.5P . . i WLL8OP : 20mm =
R10 30T ~ +70C SUS 303 (222 308X 15) 2x@0.25 @ 1.0 Optical fiber 7S HPX-EG : 4mm ;'-‘_5
&l
80

@1 Optical fiber —
{ #0.82 SUS TUBE (-)TE
—~ N ‘ £
s S — =)
2xp025¢zoin 7y 15 15 o7
0
1,000 lI'TIl-

GPF-D026

I EETEEEE 2074 Aolg | =mem Azl

o AEZ:10,18mm
ALUMINUME 15 5 00 x 4 | BT H16XDO5 0y 5 5 il fiber 28/ : WLLBOP : 256mm

Exq
‘30“0 ~ +70°C AT} .
(SILVER) TEE 16X D 0.265 HPX-EG : 100mm

GPF-DO19

=58 MERE =S =2 Foj7d Alolg zZ2[A AE712

@3X15
(E22g082X19)

By
[@)]
N
olr
By

WLL8OP : 20mm -

HPX-EG : 4mm - L e s, i
= > T AN F

45 N S

ol

#1 Optical fiber @

R10 -380T ~ +70C SUS 303 2x@0.25 @ 1.0 Optical fiber | 7t=

2.
oL, o

2x80.25¢2 0157
S————15——

$0.82 SUS TUBE
[

/

=EEH MERE s=xE =ra Fol7d 7ol= z2|A AE712 -
1,000

ALUMINIUM =212 16X 00265
©WvER) | 20X20X4 | ~ais 16% 0 0.265

R5 -30C ~ +70C @ 2.2 Optical fiber| 7t

or
ﬂ

HPX-EG : 100mm C

zERS
CORE: S7: 16 x 90.265 —

SEP 600285 o
e
45 X

GPF-D026-AT(x) §

=& MERE = =2 Foj7y 7ol z2|A AE712 )

£Z:10.18mm
EDll - == .
I—C.’F: . 12?% 8222 @ 2.2 Optical fiber| 7= | Z2%Z : WLLSOP : 255mm ok
TET : HPX-EG : 100mm o

= sto[H]

R5 -30T ~ +70TC ACEETAL 20X20X 4

i

CORE: £ 21 16 X 90.265
4B 16X00265

50 www.fasystem.co.kr Ol OO A|AEN(ZF) 51



SEEIQ YA Sfo[H{QLIE S| O|AAE HX Xt
DIAAZ(20.1m~)O2 D293, 013 S SAaHH ZSBLIC,
HMAZOR AloIo0| 1, 9I%| ZHE olFict

3w | age= | slcam =

7ol

A&712|

R20, R5 | -30T ~+70C SUS 303 M6 X 0.75P

@ 2.2 Optical fiber

WLL80 : 400mm
HPX-EG : 150mm

S 1X81
S¥ 16X80.265

@ 2.2 Optical fiber(R20mm)

@ 2.2 Optical fiber(R5mm)

S M HOo|X| X Y

7ol

AE712|

(2 FEEDER <{0f B T ®7Ho ti=03 4&
EI=res To|7A Aol= =213 A&7
M3 X 0.5P SR :1x005 | @1.0Optical fiber s WLL8OP : 95mm
) T2 :9x @025 | @ 1.3 Optical fiber < HPX-EG : 50mm

=t MERE RN & =4
=3
R2,R6 | -80T ~+70C SUS 303 M6 X 0.75P A:.',;
TS

@ 2.2 Optical fiber

WLL80 : 250mm
HPX-EG : 90mm

! 1. HPF-LUO1 2} Z=HA| SPOTZ : 7mm : @ 0.4

‘ 2. HPF-LU029} Z2HA| SPOTZ : 19mm : 0 2.0
o o 3. HPF-LUO73} Z3HA| SPOTZ : 4.6mm : @ 0.2
1 Optical fiber(R15mm)

S 1X01
L35 16X00.265

©2.2 Optical fiber(R2mm)

2.2 Optical fiber(R5mm)

£t MERE SRR &=t

PF-D034(Z0|4 SPOTYH)

7ol

d4&712|

l'/>\‘l

ey

= © 1.3 Optical fiber(R5mm)
SR 1X80,5
AT 9XB0.25

2,000
PF-D024-2
= | =rtA o7 Aol= E=IEA| ZE7e
M3 X 0.5P FEE:1x005 | @1.0Optical fiber s WLLBOP : 60mm
’ TEE9x00.25 | @ 1.3 Optical fiber < HPX-EG : 25mm

1=
R10, R5 | -30TC ~ +70TC SUS 303 M3 X 0.5P -~
ES

@ 1.0 Optical fiber
@ 1.3 Optical fiber

WLL8OP : 456mm
HPX-EG : 26mm

| 1. HPF-LUO1 2} Z=8HA| SPOTZ : 7mm : @ 0.2
1 2. HPF-LU02%} Z=&tA| SPOTZ : 19mm : @ 2.0

@ 3. HPF-LUO72} Z8HA| SPOTZ : 4.6mm : 0 0.1
@1 Optical fiber(R1mm)
|} '

)

I\
J

© 1.3 Optical fiber(R5mm)

s¥ 1X00.5
L% IXP0.25

F3L: 1X00.25
28 9X20.25

1. HPF-LUO1Z} Z=§HA| SPOTE : 7mm : @ 0.2
2, HPF-LUO22} Z=8HA| SPOTZ : 19mm : @ 2.0
3. HPF-LUO72t Z3HA| SPOTZE = 4.6mm = @ 0.1

@1 Optical fiber(R10mm)

®1.3 Optical fiber(R5mm)

1,000

52 www.fasystem.co.kr

|

|

Bl

o

oj

o0
<+
ujr

T 3jo|H]

olZofojA|AEY(E) 53




GPF-DO41-F

=E8H AMERE =S =Syt Foj7d 7ol =2 AE712|
5 . . . WLL8OP : 140mm
R1 30T ~ +70C ACETAL 183X 7X2 2XQ05 @ 1.0 Optical fiber | 7}5 HPX-EG : 60mm

R 4

2-936, 921, C/B

¢1.0 Optical Fiber

(Ultra Bend—resistant R1mm)

1,000

GPF-D041-F1.3

=& MERE S|l =R Sl =24 Foj7y 7ol =2 HE7z2|
o o ’ ) = WLL8OP : 100mm
R1 30T ~ +70T ACETAL 13X7X1.3 2X®0.5 @ 1.0 Optical fiber ts HPX-EG : 40mm
13 ——Tl.S ™Y
T B
T B —_—
1 A3 e e
Toes =
GPF-D045-HS
=& MERE S|l =R Sl =t Foj7y 7ol=2 zZ2[ZH AE7z2|
o o ) ) = WLLS8OP : 140mm
R1 30T ~ +70T ACETAL 12X8.5X4 2X@0.5 @ 1.0 Optical fiber ts HPX-EG : 60m
2- ¢3.8-2.2, C/B
—4—t 4—Le
¢1.0 Optical Fiber
| (Ultra Bend—resistant R1mm)
e 2 I
| 2 )
L

1,000

54 www.fasystem.co.kr

GPF-D045-AP

=50 A== S =ExE =yt o Aolg =2|A AEAE|
o . . . o WLLS8OP : 210mm
R2 30T ~ +70C ACETAL 12X 85X 4 2X@1.0 @ 1.3 Optical fiber 7ts HPX-EG : 85mm
2- $38-2.2, C/B

g 4o

= #1.3 Optical Fiber

— | (Ultra Bend—resistant R2mm)

] n
3 Te
S5
——85 500
3 | ABSE | =M@ | dl=dA | Zoies HolZ ESTEN 227
. . . . = WLL8OP : 140mm
R1 30C ~ +70TC ACETAL 7.2X10.56X3 2X @05 @ 1.0 Optical fiber ts HPX-EG : 60mm
1.0 Optical Fiber
2-92.1,THRU (Ultra ge;g-res(iestam Rlmm)
S NI
I : N\
- 25
10.5 1,000

0?

1T

fOIH

OIZOO|A[AEY(E) 55




GPF-D032B-2

&= o7y Alolg z2|A AE712
I _ WLL8OP : 1565mm
M4 X 0.7P 2-9X@0.25 | @ 1.3 Optical fiber | 7t5 HPX-EG : 56mm

A @2 no=
g | L #1.3 Optical fiber
| 11
—8.5 2,000
=T o7 Aol= =z[A AE71=
MaXO0.7P | 216X 00265 | ©2.2Optical fiver | 715 | 00 "25omm

>
o

2-16X#0.265(2 017>

L]
L

| (-

L]

22RE

ge.2 Optical fiber(RSmm)

56 www.fasystem.co.kr

s
OIZOOJA|AEY(E) 57

|

S M HOo|X| X Y

T 3jo|H]




2 72| B

|

GPF-D024-ST180 Qgk:jexe

o= N S=ryE 3= Ao 7A 7lols zZ2|A AE7E
Ras | G0 oo | susaos | 20x30x9 | 2xiens@ss| P PEOPIAPT | i | wiieop: 1.200mm
T

S M HOo|X| X Y

=UE S AR Y o ’ . o
tMo2 95 Xto| HIM 5t 77t 9lof 0|2 E 2.2 Optical fiber,150°C(Max: 180°C) . ~
XI5 Qs HARHAXE BESH] Yo 3 © € I -
28 o] Bl ABEHMII5AES © F | 3
SAsIS U o I ) g

GPF-D024-ST250 p&sleoe

Iguzy | Ages Sl=RI H=RA e #Holz ze| Az
Ros | B0C~+200C | g5 an3 20X30X9 |2XLENS@53| @29SUSTUBE | 27t | WLL8OP : 900mm
(Max 250°C)
GPF-D024-ST
ZEUHA AE2E S| =xHE S| =4 Fo{7A 7olg el Al HEAE| 2 2xg3.2
=
ol
R20 | -30C~+70C | SUS 303 20X30X9 | 2XLENS@53 | @ 2.2 Optical ficer | 7t WLL8OP : 1,200mm @ D ic}
10
© —

)]
2xp3.2 :
#2.2 Optical fiber i . X
= oF
@ E 30 2,000 E
=)

C
5] |—7——15— Eﬁ

GPF-D024-ST350 [Ekleke x

ZE0H ARBR2E of| =EXHE (5 L= A7 Aol& iR HE712|
GPF'D024'ST1 05 1 O 5°C 60T ~ +300C . } "
R25 N 3500) SUS 303 20X30X9 |2XLENS@53| ©2.9SUSTUBE | 27t5 | WLLSOP : 900mm 0

fOIH

SEH AlZS2E Sl =xE Sl =t o7 Aolg =z2|A AE7zE| ur
R25 -40TC ~ +105C SUS 303 20X 30X9 |2XLENS@53| @ 2.2 Optical fiber s WLL8OP : 1,200mm e s L)
9 e : 3
S g R e 0
] A ‘ :
@ F €|9 G _, 5 . E%
s A A 30 2,000 ]

58 www.fasystem.co.kr Ol ZOOJA[ARIZF) 59



e

AL 20| RLUIE : S =F AL EY 2IAFY =0l RLUIE : S5 =¥ EfY

|

GPF-D025-ST GPF-D025-ST350 [ekjee

=& AMERE =S =Syt Foj7d 7ol =Z2|A AE712| =g AMER2E = = Foj7d Alolg zZ2|A AE7z2

-60C ~ +300C

(Max 350C) SUS 303 22X30X9 |2XLENS@7 | @29SUSTUBE | =7t5 WLL8OP : 1,300mm

R20 -380C ~ +70C SUS 303 22X30X9 | 2XLENSQ@ 7 | © 2.2 Optical fiber s WLL8OP : 1,500mm R25

S M HOo|X| X Y

2-032 2-93.2,THRU

J #2.2 Optical fiber ‘:

30 2000 5

0o}

22

2000

GPF-D025-ST105 Qles)e

g | slgex Sl=xta sl=m2 ETER e ESE Az agu | A=eE S=rp =2 20174 70|z =23 Az

000~ +800C | 5us303 | 22x30X9 | 2XLENS@7| @46SUSTUBE | E7K5 | WLLSOP: 1,200mm -

R25 -40C ~ +105T SUS 3083 22X30X9 | 2XLENS @7 | @ 2.2 Optical fiber | 7t= WLL8OP : 1,700mm R25 .
(Max 350C) ok

_ 2-83.2,THRU o]
2-93.2 i

J @2.2 Optical fiber(105°C)

‘ F—10—F4-
30

Optical glass fiber (Heat resistant Max. 350°C) =)

9
I— —I With 8 4.6 SUS protective armor
o ARE
J @
@ | — R R
=

22

00/

2000 : 1 5

GPF-D025-ST250 p&slue PF-D035-ST350-6.0(k) EE]o)e 3

g0y | Ages | o s 20174 Aolg EEEY za&72) EIEEEEET ) 074 Aolg B Azl

T 3jo|H]

_6(2/'(;;2;%930 “60C ~ +300C SUS 303 27 X 38X 13 | 2XLENS@ 10 | @ 46 SUSTUBE | 27t WLL80P : 2,000mm oo

SUS 303 22X30X9 |2XLENS@7 | @29SUSTUBE | =7ts WLL8OP : 1,300mm R25 (Max 350C) %

— 2-93.2,THRU e

.
o

—13
Optical glass fiber (Heat resistant Max. 350°C)

With #4.6 SUS protective armor 2.9 e

‘ ‘ AN A O 5

B o i
ARRRRRARN AN NN jprgggosesgooss| ====|

22

]

30 2000

60 www.fasystem.co.kr Ol ZOOJA[AENZF) 61



2IALY 2l0|H RLIE : 12 Ef 2IALY 2l0|H RLIE : 12 E

|

| HIARE BjO[ RLIE : 2% Ef GPF-D022-SNGx) RElXe

_ =4 A2 of| =XHE =14 Ao 7ol2 =z|A HA=7z2|
ZL2| oL Ho|HE Lt ChYFTH 2 & AFQFut Ajo| X7} FH|E|o] Qlom
o o P ras | 00C-+180C | cicooe | vexorse | axpis | @ 220pticalfiber(180C) | . | WLLSOP : 400mm
L(&)X} EfYUE CH-S7H5BHLICE, (MAX 180%) : ' (ZAZX)) S | HPX-EG : 150mm

S M HOo|X| X Y

@2.2 Optical fiber(180°C)

% 43 _ 3 | »
,,,,,,,, — ok
_ T —= < =

13—
2XFLS (2oixZ 2,000 =3

,,
w
!/

/
L]
L)
3}

| GPF-DO11  [lefye GPF-D022-PT [H{sJe

=& MERE S|l =R Sl =74 Fol+y #lol2 =2/ AE7z2| =8 MERE Sl|I=RE &=t o7y Alol2 =2 AE712|

WLL8OP : 400mm
HPX-EG : 150mm X

R5 |-40C-+105C| SUS308 | M6XO075P | 2X@1.0 | 2.2 Opticalfiber(1050) | sks | /b0 S0 R35 '?,?Aix” 1+510‘°ig)c

@ 2.2 Optical fiber(130C)
(BLFX])

SUS 303 M6 X 0.75P 2x@1.5

©2.2 Optical fiber(105°C) $2.2 Optical fiber(130°C)

it ]

)

///// ’—ﬁs—‘ /CABLEEiIai‘I_‘ /// { Ig-g
JJ‘Z ::::\\ ’@* E “Uﬂ—|c~vpmm t:::::/ io
. —— TS -

CORE: 2-91.5 —
! X

5 000 0
2, V00 h

18

2Xp1(zoinz)

_ GPF-D022  JEIue GPF-D015-250-S [pEl)e .

=8 AER2E SllERNE il =t Foj7y Aol2 =z2|A AE7z2| SEE MERE SlERE &=t o7y 7ol2 zZ2[ZH AE7z2|

T 3jo|H]

oy | WLLBOP : 160mm
@46 SUSTUBE | 27k5 | \5x £6 - somm ®

-60C ~ +150T
(MAX 1807)

@ 2.2 Optical fiber(180C) WLLBOP : 400mm -60C~+200C 2X @ 1.2(20{24)

Sus 303 MEX0.75P | 2X@1.5 (224K HPX-EG : 150mm (MAX 2500) | SUS308 | MBXO.78P oy 05« 400, Glass fiber)

$2.2 Optical fiber(180°C) Optical glass fiber (Heat resistant ~60°C~+200°C, Max:250°C)
38 I % | o : With @ 4.6 SUS protective armor e e

% ~
? ~ < R I
e ——— AR
_ _ .,,l I L0
| — i
[ O @1.2¢2oia )
3 N (#0.05x400, Glass fiber)

PR ]
23—

4.6 Ea

4
o,
e

2X815 (2018 18 - 000 2,000

62 www.fasystem.co.kr Ol ZOOJA[ARNZF) 63



2IALY 2l0|H RLIE : 12 Ef

o

(= |

2rAF 2}0|H FL

E 12 E}

PF-D015-350-S [Ekje)e

GPF-D015-350-L jEkjeXe

3gvE | AgeE | d=n@ | deqd 20174 e Z2 | assla
-60T ~ +300C 2X @ 1.2(Z0{2H) o | WLL8BOP : 160mm
R25 | (maxasoc) | SUSS0S | MEXO.TSP 605 x 400, Glass fiber) | @ #8 SUSTUBE | 2715 | {ioy kG : gomm
ptical glass fiber (Heat resistant ~60°C~+300°C, Max:350°C)
S o With 84.6 SUS protective armor BOB0000808000001
- z 4@”””,5\““\\\\ =
BLOCToinZ) § 2 ~HITH IR
(#0.05x400, Glass floer> 23—
2,000
GPF-D015-420-S E:¥ise
SE8H AlE2E Sl =xE Sl =t o7+ Aol =21 AEAzE|
-60C ~ +400C 2X @ 1.2(30{21E) = | WLL8OP : 160mm
R25 (Max 420°C) SUS 303 M6 X 0.75P (@ 0.05 x 400, Glass fiber) @ 4.6 SUS TUBE =S HPX-EG : 60mm
ptical glass fiber (Heat resistant ~60°C~+300°C, Max:350°C)
Bl o With 4.6 SUS protective armor 00808
- ¢ ‘4““,“,”,5,\\‘\\\\

|
Bl.2(2oi87)
(#0.05x400, Glass flber>

4.6

23—

2.000
)

PF-D015-250-L p&jue

st AE2E | =xhE s=4 o7y = =2 HAE7E
-60T ~ +200T 2XQ1.2(20{xE) o | WLL8OP : 160mm
R25 (MAX 250%) SUS 303 M6 X 0.75P (@ 0.05 x 400, Glass fiber) @ 46SUSTUBE | =7t HPX-EG : 60mm
ptical glass fiber (Heat resistant ~60°C~+200°C, Max:250°C)
/g\lilh #4.6 SUS protective armor
s, AR A
1.2(1‘015!"7‘)

2
(90.05x400, Glass fiber)

64 www.fasystem.co.kr

380 | ages | dcHE | schd 20i74Y Aolg EEE Azl
-60T ~ +300C 2X @ 1.2(20{24) o | WLL8OP : 160mm
R25 (MAX 350%) SUS 303 M6 X 0.75P (@ 0.05 x 400, Glass fiber) @ 46SUSTUBE | =7t HPX-EG : 60mm
ptical glass fiber (Heat resistant ~60°C~+300°C, Max:350°C)
/Svun 4.6 SUS protective armor
. ™ AAAANE- AR
¢1.2(.1"°15!§)
(#0.05x400, Glass flber)
GPF-D015-420-L [:¥isxe
=8t AlZ2E =N 8| =t Foi7y #Alol= zz|A AE7z2|
-60C ~ +400C 2X @ 1.2(20{2ZH) = | WLLBOP : 160mm
R25 (Max 420°C) SUS 303 M6 X 0.75P (@ 0.05 x 400, Glass fiber) @ 46 SUSTUBE | 7= HPX-EG : 60mm
Optical glass fiber (Heat resistant ~60°C~+400°C, Max:420°C)
With @ 4.6 SUS protective armor
s th
¢1.2(1‘°15l§) 80

(#0.05x400, Glass fiber)

GPF-D016-250 palue

ey | Ages | scnE s= 2074 Aol ESTEY A&7zl
-60TC ~ +200C @ 1.6(1/228) o | WLLBOP : 160mm
R25 | (maxesoc) | SUSB808 | MAXOTP (6605 x 800, Glass fiber) | @ %9 SUSTUBE | 271S | oy £G : 6omm
Optical glass fiber (Heat resistant -60°C~+300°C, Max:350°C)
<, Q‘vb . With 2.9 SUS protective armor
F&j( HHHHH
@{ %j FOROFOAOAOA0 IHOROHRHCH]
pi.6(2018%) | 7| L a0
(80.05X800, Glass fiber) L 13—t—14—
15 80
2.0n0
GPF-D016-350 pjEEleke
=&t AZ2E S =ExE =Syt o7y Alolg =2|A A&7z
-60C ~ +300°C @ 1.6(1/228) oo | WLL8OP : 160mm
R25 1 (maxasoc) | SUSSOS | MAXOTP g6 05800, Glass fiber) | 9 SUSTUBE | E71S | gy £G : 6omm
ptical glass fiber (Heat resistant ~60°C~+300°C, Max:350°C)
o, Q\,@* With $2.9 SUS protective armor

%

B1.6(2012Z)
@0.05X800, Glass fiber)

HHHHH

FU-O-U-U-OAE HFOROHHAH]

—— 20—

2.000
)

J

S M HOo|X| X Y

fOIH

OIZOOJA|AEY(E) 65



HiALA 2l0|H RUE : 12AX EIY HiAL Sl0|H RLE : 1252|2 EtY

e — AL

|

GPF-D0O15-LP250 [p&lee

=8 MERE = = Foj7d 7ol

@ 1.6(1/22)
(@ 0.05 x 800, Glass fiber)

AE712|

Ik
n
N

WLL8OP : 160mm
HPX-EG : 60mm

-60T ~ +200C

R25 | A 2500)

SUS 303 M6 X 0.75P @ 46SUSTUBE | E7t5

S M HOo|X| X Y

)

GPF-D016-FA250-2.5-LENS(x) [p&loXe GPF-D016-SP250 |p&lee

=& MERE S| =R Sl =4 Fol+d Alol2 =Z2[Z AE7E] =8 MERE Sl|I=RE &=t o7y 7ol zZ2[ZH AE712|

7{2|d SPOTAIE : 5mm: @ 1 0[5} . \ = ]
! -60C ~ +200C 1.2(1/2528 oo | WLLSOP : 80

SUS 303 M4 X 0.7P |LENSZZ 053] @ 2.9 SUS TUBE | 7t 10mm: @ 2 0[5} R25 (MAX 25000) SUS 303 M6 X0.75P | O% « 4(()0/ al as; fiper)| @ 2-9SUSTUBE | E7kS | oy b 302;2 X

15mm : @ 3 0[5} . ) X

-60T ~ +200C

R25 | (MAX 2500)

EN R — w_l M4x0.7P Optical glass fiber (Heat resistant ~60°C~+200°C, Max:250°C)
BIBaE

. © With 2.9 SUS protective armor
~ - T oo
AR u S5 )
i ] o
o

>
20 128 —

& i
3 ey

P1.2(20HA)
#0.05X400, Glass fiber) 50 10— 20
QoI zw7

i

—— 20—

% ot
2,000 OF

GPF-D030-SP250 pp&lue x

SEE MERE SlI=RE &=t Foj7y 7ol2 zZ2[ZH AE7z2|

T 3jo|H]

oy | WLLBOP : 160mm
@46 SUSTUBE | 27k5 | o) £6 - somm ®

-60C ~ +200C @ 1.6(1/22g)
(MAX 2507C) SUS 303 M6 X 0.75P (@ 0.05 x 800, Glass fiber)

5.
Optical glass fiber (Heat resistant ~60°C~+200°C, Max:250°C) e
With @4.6 SUS protective armor

TR AR
POACAN0 QI

I

i i— 5~100 . 15—

oIz 7HS)

66 www.fasystem.co.kr O|ZZGO|A|AENZF) 67



HIALS 2l0|H |LIE : 12525 EfY

HiALA SlO|H RLUE : 122 E EIY

GPF-D030-SP350 [Ekje)e

SEUHA AB2E S| =XE | =rtA o7 7ol2 zz2|A HEAHE|
-60C ~ +300C 0 1.6(1/252 -, | wLLsoP: 160mm
R25 | (maxasog) | SUSS03 | @585XT5 |0 054800, Glass fiber) | @ 4B SUSTUBE | Sk | 1oy F6 - 60mm
?5.! 2
/ODUCN glass fiber (Heat resistant ~60°C~+300°C, Max:350°C)
With 4.6 SUS protective armor 00001
o B ARARRSBARARARA
R—— l—5~mo—l—15—
CHoIZW7HE) 2

GPF-D015-SP250-Z522-5.0S(x) pileXe

3g9d | Ages | o =4 20i7Y Aolg EEN #a72)
-60C ~ +200T ?1.6(1/228) = | WLL8OP : 160mm
R25 (MAX 250%) SUS 303 M6 X 0.75P (@ 0.05 x 800, Glass fiber) @ 46SUSTUBE | 27t= HPX-EG : 60mm

L

ptical glass fiber (Heat resistant ~60°C~+200°C, Max:250°C)
With $4.6 SUS protective armor o 0000
E AT —
AL QIR - .
st

<
8

b—23—

5,000

68 www.fasystem.co.kr

el gy locyl oyl 250°C

388y | Age=

=

|

GI=Sr

Foj7d 7ol

I
n
N

AE712|

-60T ~ +200C
(MAX 2507)

SUS 303

M6 X 0.75P

0 1.6(1/228)

(& 0,06 x 800, Glass fiver)| 2 34 SUS TUBE

THT
N
olr

WLL8OP : 140mm
HPX-EG : 60mm

ptical glass fiber (Heat resistant -60°C~+200°C, Max:250°C)
With #3.4 SUS protective armor

innnnnnnE R RRRRR RN
QIAAAANAAY

—— 20—

S M HOo|X| X Y

2,000

GPF-D032B-350 [Ekjeke

=8 AIZ2E

Sl|I=RE

e

Zoi74 Aol

AE712|

-60C ~ +300T
(MAX 3507)

SUS 303

M6 X 0.75P

? 1.6(1/228)

(@ 0.05 x 800, Glass fiber) @ 3.4 SUS TUBE

WLLBOP : 140mm
HPX-EG : 60mm X

ptical glass fiber (Heat resistant -60°C~+300°C, Max:350°C)
With #3.4 SUS protective armor p

— 20—

2,000

fOIH

OIZOOJA[AEN(E) 69



J

S M HOo|X| X Y

|

o
30
i)
N
e
ro R

Lt HE5H 0K} 5he /3.2
g SELI

m OflA Z/Ci 50mm H7THK| -
g

A 02 oM
ol
o
n=
Rl
Q

S H

OHHHIALY - B0 QUE OFRBIH| HEE

3

o

o o

oL

HIALY 310[H FLIE =i Bt 71p
SEALY W, LHOFE, MIZEH| B 74p

o GPF-D028-S

o|H RUE &Y
=EEH MERE S=xE =4 Fol7d Aolg z2|A

S
(=]

ot
oz

i

YAt
At

o
ton

o o

gt

Sl0|H RUE 12

JIN]
T

72|

1 ~3mm

olr

R1 -30T ~ +70C ACETAL 12X16.5X38 2X®05 @ 1.0 Optical fiber | 7t

2-03.1,unoial #1.0 Optical Fiber

. 1 (Ultra Bend-resistant R1mm)
) — t X
S G o
E)
S
2X90.5¢2oixlZ> 163 4 1 o
50
7 I
farand =

GPF-D028-L i

=8 ME2E SlI=RE &=t Foj7y Alol2 zZ2|A AE7z2 uir

fOIH

R1 -30C ~ +70C ACETAL 12X 18X 3.8 2X@0.5 @ 1.0 Optical fiber s 1 ~6mm

2-93.1,A012|
91.0 Optical Fiber OF

(Ultra Bend-resistant Rlmm) £

2X905 (201%3) | Kl

OOl OJAIARY(F) 71




AbE BH0|H QLIE : ural E

|

GPF-D028-L2 GPF-D023-LF-HM(10mmI8#)(x)

=& MERE =S =Syt Foj74 7ol =Z2|A

I
]
u\l
]

72| =8 MERE = = Foj74 7ol2 =2/ {E712

R15 -30C ~ +70C ACETAL 12X 18 X3 2X@05 @ 1.0 Optical fiber s 1 ~5mm R20 -30C ~ +70C A%LBJ&CN;LSM 18 X20X 5 (SIDé \>/<|E®V\I2.|_8ENS) @ 2.2 Optical fiber ts 10mm 1y

2-¢3.1,unNoial

S AN HOIX| 2 Hy

SIDE VIEW LENS

|

¢1.0 Optical fiber

|

2-932,4A 02|

@ 2.2 Optical fiber
— i — ] =
oF

...
1
\/
N
N
7/ \ ?:0
._5_.|

(A(c
NN

N

RS

2X30.5 (Zoinz) 18 2,000

ol

L5l 70
65 35 2000 =l

sto|H R

q

GPF-D028-HL

2 MERE S|l =R Sl =24 o7y 7ol Z2[Z

HE|

oY
T

R20 -30C ~ +70C ACETAL 12X 18 X3 2X01.0 @ 1.3 Optical fiber | 7t= 2 ~20mm

2-93.8-g2.2 C/B

34 '—13 ‘
7 ¢1.3 Optical fiber

18 2,000

1o
o }63sd

2X81 (ZoinT)

[Anggany >

3
GPF-D023-LF(ZA=H8) B

2 MERE S|l =R Sl =t o7y Alol2 Z2[H HE72 S

ALUMINIUM 2X028
(BLACK) 18X20X5 (SIDE VIEW LENS)

E PR

R20 -30C ~ +70C 1~ 35mmIX| 7ts 31'9

@ 2.2 Optical fiber | 7=

2-M3X0.5P
s SIDE VIEW LENS/

@ 2.2 Optical fiber -
= —— — — = ok

()

— — 4t — — iof

20 2.000
2 e/

72 www.fasystem.co.kr Ol OO ARY(F) 73



At 2}0|H RLIE : §

J

=& MERE S| =R = Foj74 7ol =Z2|A AE712| SEEH AMER2E = o =4 Foj7d Aol2 zZ2|A AE712

S MM HOIX] Y HY

@ 2.2 Optical fiber

R20 -30C ~ +70C ACETAL 29X32X6 |2X@28LENS| @ 2.2 Optical fiber s Ea&72| 15~ 25mm R20, R50 | -30C ~ +70T PTFE 22X35X9 | 2X@7LENS @ 4.0 PFA TUBE

ts WLL8O0P : 1,500mm

I

2-p6-#3.1uNol2l 2—-93.2 THRU 6‘|<:

o 9
#2.2 Optical fiber SEAHM‘\ SEALING 2
PFA TUBE(®4), 2.2 Optical fiber o
— o = — |z
§ (]
. o i '

-1
I
1
i

PTFERE MEIN2|

o[[o
Fosd
— 18.4 —|

+Hee

i |

2,000 M

35 2,000 w

S0|H &

e

PF-D052-PFA

o | AlBeE | scHE s 20174 Aolg EEEY #a7i)

@ 2.2 Optical fiber

R20, R50 | -30T ~ +70T ACETAL 29X32X6 |2XQ28LENS @ 4.0 PFA TUBE

ts SH7{2l: 5~ 25mm

2-p6-#3.1uNolal
84 PFA TUBE(RS0Y

1

azes PIFERE Agy2

1,900

o[ le
Feosd
—18.4—|

+H-22

| o

GPF-D052-105-TB(L2}E8) Jfe)e .

2 MERE S|l =R il =t o7y 7ol zZ2[ZH AE7z2|

fOIH

@ 2.2 Optical fiber Je ZA1742] : 15 ~ 50mm o

R20, R50 | -40C ~ 105T PTFE 42X40X10 | 2X @ 7LENS @ 4.0 PFA TUBE )

" PTFE 94 PFA TUBE(LIS :2-92.2 Optical fiber Heat resistant 105°C)

y o —soamg . L9 ! X

2 2] 7 oF
1 ES)

: - j =2

p ‘ ol
’ ' 0o

rlS—rlo-/ #3.1,8A012Y gﬂ

R .

74 www.fasystem.co.kr OlZOflOJA | ARYFE) 75



At 2}0|H RLIE : §

sPEUIAA 12 SAHXHEY ErY .

<

B0

ok

o K

o

GPF-D052-ST GPF-D023-LF105 QgleE)e 2
=
SEHHE A2 =X =t o+ Aol =z|A HE712| = A2 S =EXZE =4 07y Aol =z|A HE712| ;‘j
80

. . o _ . . | ALUMINIUM 2X Q28 o .| e =Rz ’

- ~ = Al - ~ =
R20 30C ~+70C | SUS303 | 28X 32.9X8 |2X@53LENS | @ 2.2 Optical fiber | 7= | ZAl7{2l : 31.5mm R25 [-40C ~+105C| "ot o0 18X 20X 5 (SIDE VIEW LENS) 2.2 Optical fiber | 75 | TELE-SES, L

2-96.2,0 3.2, HAlIO{2! X
2-M3X0.5P oF

S SIDE VIEW LENS
)
o

©2.2 Optical fiber (Heat resistant 105°C) =
i
IJ? 1 I'I'a'o

[

@ 2.2 Optical fiber

o

o
3
o
o
@
o
3
3
w
n
0
n
3
w
w
n
=4
o
8

2,000
2,

GPF-DO51-LF GPF-D023-LF250 ppkioxe .

=& MERE S| =R Sl =4 o7y 7ol z2[Z AE7zE =8 ME2E SlI=RE &= o7y 7ol =2 AE7z2|

sto|H R

=]

ALUMINIUM I o = Al . -60C ~ +200T | ALUMINIUM 2Xp28 o | BAVE| =EE
(Hard Anodizing) 35X30X10 | 2XQ@7LENS | @ 2.2 Optical fiber 7ls Z47{2| 1 93.5mm R25 (Max 250°C) (BLACK) 18 X20X 5 (SIDE VIEW LENS) @ 2.9 8US TUBE ts 1 ~ 35mm7tR| 7bs

—| 2-93.2 THRU -
: / s SIDE VIEW LENS / 2-M3X0.5P

¢2.2 Optical fiber

R20 -30C ~ +70C

© O
I
/
|
|
|
d
Eo
|
|
i
|
!
!
|
i
|
|

—13———— 14— E=)
6,5 3,5 =)

12421:93.5mm 30 2’000 . ﬁa‘

0>

T z

GPF-D056-LF-SC-2.0(0|2SPOTH) GPF-D023-LF350 [ekjee x

=& MERE S|l =R il =t o7y 7ol zZ2[H AE72| SEE MERE SlI=RE &=t Foj7y 7lol2 zZ2[ZH AE7z2| =2

@ 298US TUBE Al . . . = -
. e o o | BA7{2( 1 300mm -60C ~ +300T 2XQ28 oL | AR =EE
56X354X10 | 2X@ 7 LENS |Lig: %112(822003 ?Ik;:(i‘ii) 27ts (SPOT=IZ : @ 20) R25 (Max 350°C) SUS 303 18 X20 X5 (SIDE VIEW LENS) @29SUSTUBE | =7 1 ~ 35I| 7Hs b

. ST

ALUMINIUM

R20 ~80C ~ +70C (Hard Anodizing)

2-M3X0.5P

13 2-93.2 THRU 5 SIDE VIEW LENS /
S2 % CORE: 9025 T J _
I ] -‘<
0 B BEOee00000008000IRT000 & \ i I oF
. _ — i i P E
o T o 421 00RE @10 - ¥ —_—
F42121:93.5mm @

382

345

@98

0:

—13————14—— i
Fesd—tas E

2,000
20 ,000 -

76 www.fasystem.co.kr O|ZZOOJA|ARNZF) 77



GPF-D023-LF105-CT-0OS(x) glek)e

A2 silExtE Foi7y 7ol zZ2[Z AE72
e 1o | ALUMINIUM 2X 028 - _ | =91 17.5mm
40C = 105G g1 ack) (SIDE VIEW LENg) | @ 2 Opticalioer | 755 (opztz51) : 15 - 20mm)

2-93.1

2-92.2 Opticol flber Heat resistant 105°C)

N

7 4

|

|

GPF-D023-LF250-CT-0OS(x) [pklee

AE2E Sf|=xE Foi7A Aol2 ZRIEA HAEAZ|
60C ~ +200C | ALUMINIUM 2X @28 Lo | BRI 175mm
(Max 250C) |  (BLACK) (SIDE VIEW LENS) | @ 29SUSTUBE | E7KS | (pgai=onal 15~ 20mm)

GPF-D052-ST250 p&jue

(o]
GPF-D052-ST105 glek)e
sua | Alge: | doHE | sleH EETEY ERE
R25  |-40C ~ +105C AL(SE"A'CN;&;M 28X 32.9X8 |2X@53LENS| @ 2.2 Optical fiver | 271= | ZAlA2] : 31.5mm
2-96.2,9 3.2, EAlHe!
.
$2.2 Optical fiber (105°C)
T o
A
4 ] |

GPF-D023-LF250-CT p&slexe

go | ABeE | A = B A7zl
R25 _6((’3/'2;22%980 A%E&E%M 28X 329X8 |2X@®53LENS| @29SUSTUBE | =7t ZA7E| : 31.5mm

MERE S| =R Foi74 7ol =2/ AE712|
-60T ~ +200C 2X@28 oL | BAE| =EE
(Max 250°C) SUS 303 (SIDE VIEW LENS) @29SUSTUBE | =75 - 35mmIHA] 7Hs

2-93.1,8Al0el

36

2,000

0l©

2-96.2,¢ 3.2, ZAIO{2l

—13—t—14—

F-D023-LF350-CT [EkEloe

=it MERE SlI=RE

GPF-D052-ST350 [ekjexe

=T

zZ2|A AE72|

-60TC ~ +300T
(Max 3507C)

SUS 303 28 X329X8

2XD53LENS| @ 2.9 SUS TUBE

=7ts EM712| 1 31.5mm

MERE S| =R Foj74 7ol2 =Z2/= HE712
-60T ~ +300C 2X@28 oL | BAE| ==
(Max 350C) SUS 303 (SIDE VIEW LENS) @29SUSTUBE | =75 T 35mmIHA| 7Hs

2-93.1, 8 Al0{el

36

IEIE

2-96.2,9 3.2, ZAIDI2l

—13—+—14—|

78 www.fasystem.co.kr

S AN HOIX| 2 Hy

=
oF
o
0
wk

sto|H R

=]

OIZOOJA|AEY(E) 79



|

=8 MERE = = Foj7d 7ol zZ2|A

o
M

1E71{2|

2X@25

R20 -30T ~ +70C SUS 303 21 X27 X6 (SIDE VIEW LENS)

@ 2.2 Optical fiber = 6 mm

S M HOo|X| X Y

2-¢3.2 THRU

I

e 35

®2.2 Optical fiber
X

o
Festas E_,E

27 2,000 -

Y=Y - 2A0|H FUIE

HEALR Sto|H

LY =0|H RHE 7= B 81p ==z = =T & =EXHE =T TN Aol= =2|x A&7
L= 3l0|H FUE 12 Bt 82p —
AN~ 5 ALUMINIUM 2XQP25 ) ) :
R20 30T ~ +70TC (glass sanding) 26 X30X6 (SIDE VIEW LENS) @ 2.2 Optical fiber s 10 mm g;
E:)
=
o
. 35 2-93.2 THRU @
— T $2.2 Optical fiber fg
K!
N B
8 10 i 65
’Q'_F
30 ] 2,000

Z=4kA A2 & =EXHE s|=mA o7 Aol= Ext=lEA| AE712| g
)
A . ALUMINIUM 2XQ 27 - - H
R20 30T ~ +70C (BLACK) 36 X30X6 (SIDE VIEW LENS) @ 2.2 Optical fiber 7S 20 mm gilg
wjr

-6 ast 2-93.2 THRU o
| «

I

] b7 ﬁg

&
H &

3%
Fary
N

Ol ZofOJA[AEN(F) 81




GPF-S06-105 QlsL)e

=& AMERE Sll=ERtE slE7A Foj7y Alol= Zz2|A AE7z2
e e 2X 025 - _
R25 40T ~ +1056T SUS 303 21 X27 X6 (SIDE VIEW LENS) @ 2.2 Optical fiber ts 6 mm
2-¢3.2 THRU
6~ 35

a1

©2.2 Optical fiber(105°C)

2,000

GPF-S06-250 pp&lue

SEUHA AE2E S| =XE S| = A7 7ol2 zz[AH HEAHE|
R25 _G(RACaXNQE%QSC SUS303 | 21X27X6 (SIDI? élngfENS) ©29SUSTUBE | 27k= | 6mm
35 2-93.2 THRU
s .

21

|‘6-5‘l— 3s —13—F— 14—
27 2,000
] Y0 [ECl-{0 I 350°C
SEUHA AE2E S| =XE = o7 7 o|2 zz[A HEAE|
R25 '6&2;3;%930 SUS303 | 21X27X6 (SIDI? \>/(|§vv2L5ENS) ©29SUSTUBE | 271= | 6mm
as 2-$3.2 THRU
s .

21

_é_
_’_

—13—

— 14—

2.000

82 www.fasystem.co.kr

105C

ZEUH AZ=2E =N sl=w4 oA Aol= =2|A AEAE|
ey .| ALUMINIUM 2X@25 L _
R25 40C ~ +105C (glass sanding) 26 X 30 X 6 (SIDE VIEW LENS) @ 2.2 Optical fiber | 7t= 10 mm
2-93.2 THRU
= F
| / 2.2 Optical fiber(105°C)
1 WP
10 65
N —eile»-—r
30 s 2,000
250°C
IE0HA A== & =XHE 5= o7 Aol|2 =2|% Z2E=7E
-60T ~ +200C | ALUMINIUM 2X@25 T
R25 (Max 250C) | (glass sanding) | 28 X 30X 6 (SIDE VIEW LENS) @29SUSTUBE | &7tS | 10mm
2-93.2 THRU
A 35
L6 1 /
8 10 ’@'—ef
30 o] 2,000 "
105°C
==z ALBRE & =XHE s|=rA To|7A Aol=2 =2|x A&
v | ALUMINIUM 2X @27 - _
R25 40T ~ +105C (BLACK) 36 X 30 X 6 (SIDE VIEW LENS) @ 2.2 Optical fiber | 7= 20 mm
¢ 2-63.2 THRU
¢2.2 Optical fiber(105°C)
5]
ZEUHA A= =2E S| =EXE 5= o7y Aol=2 =2|A AE712
-60C ~ +200T | ALUMINIUM 2XQ27 o
R25 (Max 2500C) (BLACK) 36 X 30 X 6 (SIDE VIEW LENS) @29SUSTUBE | £7t=s 20 mm

(P

2-93.2 THRU
w HH

J

S M HOo|X| X Y

I

X
oF

T
0

uk

HEAR Sto[H |

jolH R I

A 3

=

ol

olzofojA|AEY(E) 83



E48E - Bl0|H QLIE

E4+8Lk 210/ RUE

85p

S48k 2l0|H FLIE

Dicing Saw ZH|2(NCS, BBDE 3}0|H)

GPF-P200-NT(*)

2.8 OPTICAL FIBER CABLE(RSmm)

=50 NB=2e= S =ExE sl=4 o Aolg ZEA AE71z2|
. ~ | ALUMINIUM - _
R20 30T ~ +70C (Hard Anodizing) 23X 18X 12 2X@P15 @ 2.2 Optical fiber s 8.8mm
2-93.4,THRU
[—12— 21,54 C/B 965 DP3
®2.2 Optical fiber
23 8,8 :|
i I
18 1,000
GPF-P301-S6(%)
=50 AIZ2E S =xE 5| =t oA Aolg =2|A AE7z|
. . ALUMINIUM - . . P 6 mm
R20 30T ~ +70C (Hard Anodizing) 20X227X10.7|2-16 X 0.265 | @ 2.2 Optical fiber | 7t HEE: 4.3mm
4.33 4.5, DP18 2-M3X0.5P,DP3.8
‘ L [ 5 b It ]
43 -
% | #
20 »4‘ 15.9 e | @ 10
4r [ o1 | I ]
=l =)
>~ 2.2 Optical fiber 22
4.33 @ =
2 13 ——14—
—10 227
32.7 1,000
GPF-P301-NT4(x)
=50 AIE2E Sl =xE &l =1t oA Aol =1 EA AE7z|
e — e | ALUMINIUM 2X 2guiid o oo | 9mm
R5 30T ~ +70TC (Hard Anodizing) 23X 342 X17 (2-9X @ 0.25) @ 2.8 Optical fiber | =7l= HAEZE:43mm
. 2X®3(Air blow hole) H43 M3x0.5P.DP4
T 94.5,0P18 & e
23 % 159 o B [CIT1 ]
L5 —

U

LS ———227 —

34.2

1,000

i—13—|—14—

J

S M HOo|X| X Y

I

X
oF

or
0

uk

HEAR Sto[H |

jolH R I

A 3

st

olZoo|A|AEY(E) 85



EAREF 510|H SLIE E4+2L 310|H FLE

GLASS 0Hd, immOlo} x| 72| HE

GPF-T030-507

SEuH Al2=2E & =XHA = oA Aolg
@ 1.0 Optical fiber
ESRE:029
SUS TUBE

AE712|

[
n
<

S M HOo|X| X Y

POATEY Z2AE HE IS
(70mmA| SPOT SIZE : @ 1.0)

ALUMINIUM LENSZIA @ 10
(Hard Anodizing) 19.5X33X16 (CORE @ 0.25)

il
_$I_
olr

R25 -30T ~ +70C

X

_t?_
< oF

=
<
2-83.2,THRU
s fesie—er 5

13 — - G
3-25-"_ @ % $2.9 SUS protective armor CORE; 90.25 o

70
®- i
uF

16

©

CORE: 80.25

L

HhARS

oY

=& MERE S|l =R Sl =24 Foi7y 7ol =2

X

o

-]

o

ETE »

)

@ 46SUSTUBE | 271= Eg
1lo.

=-
R25 -60C ~ +350C BRASS 19.6 X33 X 16 ”EIIE
=

| 3 155——14—| 14— 155135 gLaczoimz> 2!

87 3 r7 7 -
\ @,— 3Tih imr;erm I Tﬁ @ .'.T;
3,

5,000

86 www.fasystem.co.kr Ol TG O|A|ARN(ZF) 87



LS E =0 FLIE

|

S AN HOIX| 2 Hy

GPF-V Al2|=

|

TS 210[H} FLE GPF-V A2 2= TSI 22 Eol0|M ALgE 4= U= 2t0|H RUEILIC

SIAFROIA 2] VIEW PORT LS| Z4E0] QFFE|X| 2211, VIEW PORTO ChahA ZHO| AX| H01E £~ Q= ER & PN
TIS2HE5 ] A LA AFEEHLCE )

ol
LET o

10-""Pa - m¥/seco|}
(He2|3 Mg dIA)

EEEE
GPF-VL06

sto|H R

Ra
Ok
og
&
o
=2
10
I
[m

=]

At

jal

Ot RUIE S43 ErY 89p

- - AO|E B X
S0|H FLIE HtAr EFQ 92p GPF-SVL1
s

OlH RUE SHdetAre EfY 95p &

™

jal

™

t
t
t
Ol RUE ST S B 100p o]
P . S
t
t
t

TS Z LoflMe] rJIOIIH A& (2 o

l'l'l

e

Ol FUE 2 Ef 102p FIZZE LA YOIHAS(E
0|t RLIE 7|5 sto|t] 104p
3l0|t RLIE AOIEEH, AEE 105p
o|t] RLIE ZAE7| 106p

[tal

A

o oo o oo O O O o
tol

jal
OF OF OH Ok O OF OH Ok

™

CHES o

BRI 250°C :

SEE AIZ2E SlERE &=t Foj7y 7lol2 zZ2[ZH AE7z2| S

-60C ~ +200C @ 1.2(20{&ZH)

WLL8O0P : 360mm
(Max 2507C) SUS 303 M4 X0.7P (@ 0.05 x 400, Glass fiber)

©29SUSTUBE | 27k5 | \ov 6+ 120mm P

ptical glass fiber (Heat resistant ~60°C~+200°C, Max: 250°C)
With #2.9 SUS protective armor

8 ‘ ) - | |
Ple(2oixZ)
<$0.05%x400, Glus; floer)

1,000

OlZoo|A|AEN(E) 89



TS slolH QUE : E4

GPF-VT07-350-1.0L EEjoe
G P F-VT07-350-1 . OS 3 5 0 oC SEEHE ARBRE S =xE ClI= o7 7ol =2|% HE7 2

#=713| -60T ~ +300C R WAEIGESPE) WLLB80P : 360mm
(MAX 350C) (@ 0.05 x 400, Glass fiber) HPX-EG : 120mm

|

=& MERE =S =Syt Foi7y 7ol

I3
o
T

SUS 303 M4 X 0.7P @298USTUBE | &7l

WLL8OP : 360mm
HPX-EG : 120mm

@ 1.2(20{x%)
(@ 0.05 x 400, Glass fiber)

-60T ~ +300C

(MAX 350C) @ 2.9 SUS TUBE

M
N
or

R25 SUS 303 M4 X 0.7P

Optical glass fiber (Heat resistant ~60°C~+300°C. Max: 350°C)
With 82.9 SUS protective armor

e M A HH
.............

S AN HOIX| 2 Hy

A V2
\ J
o

PL.2(ZoANZD

(80.05x400, Glass fiber>

|

ptical glass fiber (Heat resistant ~60°C~+300°C, Max: 350°C)
With 82.9 SUS protective armor

K
oF

REXEEES
Sedeotodete

RN

M26X045P

o
0

GPF-VT07-420-1.0L g:¥ieXe .

=EHZ MERE SlI=RE &=t Foi7y 7ol2 Z2[ZH AE7z2|

?l2(2oix7)
(#0.05x400, Glass fiber)

20 1,000

= | WLLBOP : 360mm iy
@29SUSTUBE | =7t HPX-EG : 120mm ok

-60C ~ +400T
(MAX 4207)

?1.2(20{23)

SUS 303 M4X0.7P (3 0,05 x 400, Glass fiber)

Optical glass fiber (Heat resistant ~60°C~+400°C, Max: 420°C) o
With 2.9 SUS protective armor

o
- - - — )
GPF VT07 420 1.05 420°C : el s
AN V2727,
=SEHH A2k & =XHE = o7y Aol= =Za|A A&7 4@% ﬂ
-60T ~ +400°C @ 1.2(701%1Z) oL | WLL8OP : 360mm e
R25 | "\iax a000) | SUS 803 MAXO.7P | o 06 400, Glos fioen)| @ 29 SUSTUBE | =7ks | Lo el Jouy

ptical glass fiber (Heat resistant ~60°C~+400°C, Max: 420°C) o =
With 2.9 SUS protective armor - - - .:EJ
mmr - 5-0

1,000

(o) e i

i %l_ =
et vz I EETEEEE F0i74 Aol ESTEY #s7el -
B1.2¢20i8Z) —14—— 1
<#0.05x400, Glass flber> 0—— o o .
’ -60TC ~ +200C @ 1.2(20{2AH) —oe | WLLBOP : 360mm

20 ,000 = =

! R25 (MAX 250%) SUS 303 M4 X 0.7P (@ 0.05 x 400, Glass fiber) @29SUSTUBE | 7= HPX-EG : 120mm (-Jl;

Eo)

M2.6x0.45P =
[C]
M4x0.7P -
T 80
o ;!
g -Optical glass fiber (Heat resistant ~60°C~+200°C, Max: 250°C) o
2 l With 2.9 SUS protective armor
%
SR — 1

10— i‘—lo—li

pl2(2oiNZ>
<90.05x400, Glass fiber)

GPF-VT07-250-1.0L p&loe

g
S
H

=EHH A2k =S 5= o7y #Aol= =2 AE712 =)
o
-60C ~ +200C @ 1.2(201Z1Z) oo | WLLBOP : 360mm ° u
R25 | Max2s0c) | SUS303 M4X0.7P (250,05 x 400, Glass fiber) | © %9 SUSTUBE | 715 | oy 26+ 120mm PF'VT07 B'350'1 .0 35 O C P
wufr

SEHH == 5| =XHE GI=ree Toj7A Aol= =2|x AE712

pical glass fiber (Heat resistant ~60°C~+200°C. Max: 250°C)
2 With 82.9 SUS protective armor ‘\‘“"":’4

R e0009000 -60T ~ +300C (Z) 12(_?_0175!2;)
> ] disaie i R25 (MAX 350%C) SUS 303 M4 xo0.7P (@ 0.05 x 400, Glass fiber)

o\ f Yttt
(© |,
M2.6x0.45P
J/ Max0.7P
o
o Optical glass fioer (Heat resistant ~60°C~+300°C, Max: 350°C)
< | With 2.8 SUS protective armor p o
I ]

WLL8OP : 360mm
HPX-EG : 120mm

@29SUSTUBE | =7t

BlL2(Zoin 7> |
(#0.05x400, Glass fiber)

)

[IEIECLEN) 1 X
(8005400, Glass floer) 3
—1—

M2.6x0.45P /

10—

90 www.fasystem.co.kr Ol O OJAJAEN(ZF) 91



GPF-VD11-105-1.0S glekye

=& MERE =S =Syt Foj74 7ol =2 AE7z2
. . ) ) T WLLS8OP : 120mm
R25 40T ~ +105T SUS 303 M6 X 0.75P 2X@1.0 @ 2.2 Optical fiber | 27t HPX-EG : 40mm
®2.2 Optical fiber(105°C)
G | f sl 1
. - )i .
— 10—
2XP1(Z o3 7D 20
1,000
o
GPF-VD07-250-1.0S pEloe
=& MERE S|l =X &l =2 Foi71y 7ol Z2|A HAE72|
-60C ~ +200C 2X@1.2(Z04XZ) | @ 4.6 SUS TUBE(100mm)| . | WLL8OP : 120mm
R25 (MAX 2507C) SUS 303 M6 X 0.75P (@ 0.05 x 400, Glass fiber) | @ 2.9 SUS TUBE(900mm) =7ks HPX-EG : 40mm
Optical glass fiber (Heat resistant =60°C~+200°C, Max: °
. A * With #4.6 SUS protective armor (0000000800000
B < 4““,““,,&““\\\\ -
p1.2¢2ofizh> 2 20— Rtsatttesasias
(#0.05x400, Glass fiber) 23—
o
PF-VD07-350-1.0S jekloe
=& AE2E SIlERNE sl=q2 o7y 7ol Z2[H HAE72|
-60C ~ +300C 2X@1.2(20AZ)  |@4.6SUSTUBE(0OMM)| o | WLLBOP : 120mm
R25 (MAX 3507C) SUS 303 M6 X 0.75P (@ 0.05 x 400, Glass fiber) | @ 2.9 SUS TUBE(900mm) =7ks HPX-EG : 40mm
Optical glass fiber (Heat resistant ~60°C~+300°C, Max:350°C)
s, | o With 4.6 SUS protective armor 008 000000
{8 < 4““0, NELETS RN s
012(2 01542 ¢ — 20—

(#0.05x400, Glass fiber>

23—

92 www.fasystem.co.kr

GPF-VD07-420-1.0S g:yisxe

=&t AZ2E sl=xid slE724 Aoty AolE Zz2|AH AE71z2|
-60T ~ +400C 2X @ 1.2(20{2A) @ 4.6 SUS TUBE(100mm) | -, | WLL8OP : 120mm
R25 1 (max a20c) | SUSS03 | MEXOTEP (636 05« 400, Glass fiber) | @ 2.9 SUS TUBE(G00mm) | =S | HPX-EG : 40mm
. N ptical glass fiber (Heat resistant ~60°C~+400°C, Max:420°C)
5. ) With #4.6 SUS protective armor a0t M
3 4“”,“,)5\\‘\\\\ -
p1.2¢01m2) 3 20 Rt
(#0.05x400, Glass fiber) 23—
o
GPF-VDO07-250-1.0L jpijexe
=& AIZ2E sl =xid sleq2 o7y Alols Zz2|A A&7
-60C ~ +200C @ 1.2(20{=1 %) @ 4.6 SUS TUBE(100mm) | o, | WLL8OP : 120mm
R25 (MAX 250T) SUS 303 M6 X 0.75P (@ 0.05 x 400, Glass fiber) |@ 2.9 SUS TUBE(Q00mm) =7ts HPX-EG : 40mm
ptical glass fiber (Heat resistant -60°C~+200°C, Max:250°C)
/Swmm.e SUS protective armor
s, YA G
1711.2(1"0{5!’9‘)
(#0.05x400, Glass fiber) 100
o
PF-VDO07-350-1.0L gekjoxe
Igwd | g2z | sedE | oscwd 2074 Aol B
-60T ~ +300C 2X@1.2(20AZ)  |@ 4.6 SUSTUBE(0OMM)| o, | WLLBOP : 120mm
R25 (MAX 350T) SUS 303 MB X 0.75P (@ 0.05 x 400, Glass fiber) |@ 2.9 SUS TUBE(Q00mm) =7ks HPX-EG : 40mm
Optical glass fiber (Heat resistant ~60°C~+300°C, Max:350°C)
With 4.6 SUS protective armor
s 8 YA AR
0
- — 3 ——20—
01.2(:‘."){51!’9‘)

<#0.05x400, Glass fiber>

100

|

S AN HOIX| 2 Hy

X
ok

o
0

ol ZofojA|AEY(E) O3



S E =0|H] RUE:

|

420°C GPF-VD23-LF105 Qglee)e

=& MERE S| =X & =2 Foi7y 7ol =2/ HAE7z2 =8 MERE = = Foj7d 7ol

2X028
(SIDE VIEW LENS)

|l
n
N

AE712|

WLLSOP : 120mm i | ALUMINIUM
HPX-EG : 40mm R25  1-40C ~+105C| (g ack)

2X @ 1.2(20%E) @ 4.6 SUS TUBE(100mm)
( 0.05 x 400, Glass fiber) | @ 2.9 SUS TUBE(900mm)

-60T ~ +400C
(MAX 420T)

T
N
olr

18 X20X 5 @ 2.2 Optical fiber

Z=A| =
SUS 303 M6 X 0.75P 13::.713| zE=Z

35mmItX| 7ts

S AN HOIX| 2 Hy

2-M3X0.5P

|

Optical glass fiber (Heat resistant -60°C~+400°C, Max:420°C)
With $4.6 SUS protective armor

|

S SIDE VIEW LENS /

©2.2 Optical fiber (Heat resistant 105°C)

it ] 1] X

oF
3 —10—4 i
20 o
0

[

T T -
AL QI e

©
3 —20—

|
Bl 87
($0.05x400, Gloss fiker>

100

sto|H R

q

f

AN RE) 250°C LAY ERTZL 250°C

=& MERE S|l =X 8|l =2 o7y 7ol Z2[H HE7z2| =8 MERE Sl|I=RE &=t o7y 7ol zZ2[ZH AE712|

2X P28 o | BAAE =EE
(SDEVEWLENS) | 229SUSTUBE | St | & Ton x| 71 X

-60TC ~ +200C @ 1.6(1/22g) @ 3.4 SUS TUBE(100mm) | ., s WLL8OP : 120mm -60C ~ +200C | ALUMINIUM

(MAX 250T) SUS 808 M6 X 0.75P (© 0.05 x 800, Glass fiber) | @ 2.9 SUS TUBE(900mm) =7 HPX-EG : 40mm (MAX 2507) (BLACK) 18X20X5

R25

4

2-M3X0.5P
‘@‘ 5 SIDE VIEW LENS / )
H

AT ———,

F—12.3—

—17.7—

20 |—6,5-|— 3,5 X

100 900 2 2,000 £

PF-VD0O7B-350-1.0 jEilo)e GPF-VD23-LF350 [EEle x

2 MERE S|l =X &l =12 o7y 7ol Z2[H HAE72| SEE MERE SlI=RE &=t Foj7y 7lol2 zZ2[ZH AE7z2| =2

-60TC ~ +300C @ 1.6(1/22%) @ 3.4 SUS TUBE(100mm) | -, | WLL8OP : 120mm -60T ~ +300C 2X@28 -
(MAX 350C) SUS 808 M6 X 0,758 (© 0.05 x 800, Glass fiber) | @ 2.9 SUS TUBE(900mm) =7t HPX-EG : 40mm (MAX 3507) SUS 808 18X20X5 (SIDE VIEW LENS) 0 2.9 8US TUBE }

@

4

Favel =22
1 ~ 35mm7x| 7t <

2-M3X0.5P

5 SIDE VIEW LENS /

2,9

—12.3

177

12— 2

20

2,000
2

94 www.fasystem.co.kr (e [PVES-=TES e 15}



GPF-VD23-LF250-CT jpijoxe

38 | A=es | scHE | slond 20174 lolg | Zept|  #@s
-60C ~ +200C 2X0 2.8 27ts | S T
R25 | \iax2e0c) | SUSB03 | 18XB6X55 | o fhn o 0298USTUBE | 275 | 1" Tagix| 7hs
4,5
!
|
36 2,000
SE 1 1 1 1 HHH O WO, [
s
PF-VD23-LF350-CT Eilexe
g | Alges Sl=xpz sl=? 20174 A0S —— aEne
-60C ~ +300T 2X028 2ol | SRl ZE2
R25 | \axasoc) | SUS@03 | 18X86X85 | ol mE o @298USTUBE | E7tS | " Tagmmutx| 7=
4.5 2-¢3.1,Z A0
SRR
RS
F -
| — 10—
20
36 2,000
S5 Il

.
:

GPF-VD33-LF250-EST(x) [pklee

=B A2k =S =7 o7y #Aol= =2 A&7z
-60C ~ +200C 2X028 coe | 2Rk 1 10mmet
R25 (MAX 250%) SUS 3083 18 X20 X5 (SIDE VIEW LENS) @ 2.9 SUS TUBE =7ts 12mme] xjo| A=
2-M3X0.5P
F54 i |y Msxoee

N:

-3 O lsd ——a0—

I O HIGBBG88604 27

e

MS x 0.8P

96 www.fasystem.co.kr

GPF-VD50-LF-2.0AC(x)

JEUH A== El=NES sl=74 o7y Aol= =2|A AEA2|
29505 TUBE s
R25 | 80~ +70¢ | AOMNM 56 x 354X 10| 2X 0 7 LENS |upt: @ 1.0 Optalber(ER) | 2715 | 250500
(Hard Anodizing) @ 1.3 Optical fiber(G=2) (SPOTH - 0 20)
$3.2 THRU

/e

®29

354

GPF-VD50-LF250-TS(x) [pajs)e

=t AME2E RN & =4 o7y 7ol= zZ2|A AE2
-60T ~ +200C | ALUMINIUM T 70 ~ 210mm
R25 (Max 250%) | (Hard Anodizing) 68X30X10 | 2X@7LENS | @29S8SUSTUBE | =7ts (BAIAZ] 1 140.7mm)
10
—_— ——— T
ﬁﬂe:\%.:-.h_ 0 -

Sael140.7mm

o)
zzz

GPF-VD51-LF250-TSGx) [p&jele

SEE MERE SlI=RE &=t o7y Alol2 zZ2|A AE712
-60T ~ +200C | ALUMINIUM T 30 ~ 160mm
R25 (Max 250) | (Hard Anodizing) 35X30X10 | 2X@ 7LENS | @29SUSTUBE | =75 (EA7{2] : 93.5mm)

—10

—10——

S447421:93.5mm

30

|

S AN HOIX| 2 Hy

|

=
oF
o
0
wk

sto|H R

=]

At

OIZOO|A|AEY(E) 97



TS E =0|H RLE : S E =0|H] RUE:

J

GPF-VD52-LF250-2.0 [p&slae

=& MERE S| =R =yt Foj74 7ol

[
E
N

AE712

-60T ~ +200C | ALUMINIUM
(Max 250C) | (Hard Anodizing)

180 ~ 230mm

R25 (EAIA2] : 210mm)

217 X38X10 | 2X@ 7LENS | @ 2.9 SUS TUBE

T
N
olr

S MM HOIX] Y HY

A e] AZ{0IA] o 210mme] A2lof Y= £ S2HA7E AT SHEYI2AL)Z 25 TS LHL(SUS)O|
o50MMAE 27 fof ST BHZ (SRS BBE wR| 21 Y
0

2EAE
—_— B GLASS
|

o
Ih]
ofr
N
Hdo
rok
=
e
il
0o

=
= oF

7

/’/’ o

L - 7

217

P *e R

50mm 210mm = .
© ¥4 K = X

38 2,000 |

S0|H &

e

Al

GPF-VD56-LF250-2.0(0|ASPOTY) pilue f

S8 AFE2E Sl=xE &l =+ 20174 70|= HE72 Exy
29SUSTUBE
34.6X 382X 13| 2 X @ 10 LENS |5 : (3 1.0 Optical fioer(F2H)

[KI
n
ol

-60TC ~ +200C | ALUMINIUM
(Max 250C) | (Hard Anodizing)

=4 1 80mm

R25 (SPOTZIE : @ 2.5)

ML
N
olr

34.5

13
== 5 o 0
o , e I
S4&0{2l:83mm . n i
|4 SPOTE:@2.5

&

20— )

382 2,000

fOIH

98 www.fasystem.co.kr Ol OO A[ARI(ZF) 99



GPF-VD24-ST105 QlesL)e

Tl EE TR Aol EEEY #87el
R25 -40T ~ +105C SUS 303 20X30X9 |2XLENS® 53| @ 2.2 Optical fiber | =7t= WLL8OP : 800mm

2X93.2

L e
@2.2 Optical fiber(105°C)
© [ T
; O
| _—
E |—7——1s—
GPF-VD24-ST180 Qgk:jexe
=EUE | ME=E sl=xE =R 207y Aol zZalzy A&7z
-60C ~ +150C LHE : @ 2.2 Optical fiber(E@25K])| oo .
R35 (Max 180C) SUS 3083 20X30X9 |2XLENS @ 6.7 9= ¢ 4.6 SUS TUBE 270= | WLL8OP : 870mm

©
©

2X83.2

P

GPF-VD24-ST250 p&lue

2w | Al2es B =2 Fo|7H Holg 2|7 22
R25 | e oton) | SUS803 | 20X30X9 |2XLENS@67| 029SUSTUBE | E7ks | WLLBOP: 650mm

I
L

©
©

(]

2X83.2

Optical glass fiber (Heat resistant -60°C~+200 "C(MAX:250 °C)

With @2.9 SUS protective armor

15

10—

20

2,000

100 www.fasystem.co.kr

GPF-VD24-ST350 [ekjexe

=8 MERE = = Foj7d Alolg z2|A AE7z2
R25 ﬁﬁ/lg;i%g%%%c SUS 303 20X30X9 |2XLENS®6.7| @29SUSTUBE | =7t5 WLL8OP : 650mm
9
2X83.2
Optical glass fiber (Heat resistant ~60°C~+200 “C(MAX:250 °C)
T D With 2.9 SUS protective armor
© [3B00800603 s
—
@ I
10—
L | :
5 L 7— 15
30 2,000
GPF-VD25-ST250 [pEloe
eI EEET sl=7 2074 Aolg ESTEY #aiel
R25 _6(('3/;;22%?30 SUS 303 22X30X9 | 2XLENSQ@7 | @29SUSTUBE | =7t WLL8OP : 700mm
2-83.2,THRU
Optical glass fiber (Heat resistant ~60°C~+200 "C(MAX:250 °C)
With 2.9 SUS protective armor |
@/ sl [
i +—10—
20
GPF-VD25-ST350 [Ek]e)e
SEE MERE SlI=RE &=t Fo{7y Alol2 zZ2|A AE72|
R25 | o sron) | SUS303 | 22X30X9 | 2XLENSG7 | ©29SUSTUBE | E7ks | WLLSOP: 700mm
_97 2-83.2,THRU
Optical glass fiber (Heat resistant ~60°C~+300 *C(MAX:350 “C)
= With 2.9 SUS protective armor
w@ AT s [
=

ce

L Lml4

10—

20

,000-

J

MM HOIX| 2

I

=
oF

T
0

S0|H &

=]

ol ool AlAE(E) 101



GPF-VS06-250 |p&lue

GPF-VSL06-250-2.0 pslee

AMERE S| =X =yt Foj7y 7ol A&7z
"60C ~ +200C AEL 12X 025
(I\/Iax 25060) SUS 303 21 x27x6 (S|DE VIEW LENS) @ 2.9 SUS TUBE 6mm

21

:

oL

2-¢3.2THRU

HHH

Optical glass fiber (Heat resistant ~60°C~+200 °C(MAX:450=
With 2.9 SUS protective armor
M

0,
20

©

AgeE =7 20174 Aol za3
-60C ~+200C AEL:2X 025 e
(Max : 2507) 21x28x20 | (gpEVIEWLENS) | ©29SUSTUBE | 2715
6]
'E

GPF-VS10-250 |p&lue

AgeE

GPF-VS10-250-2.0L psle

=T

Zoi74

7ol

oY
Tl

-60T ~ +200C
(Max 250C)

345 X26 X6

AER:2X0 25
(SIDE VIEW LENS)

@ 2.9 SUS TUBE

9.5

L]
L

-y
3,
ER

3

/‘EX #3.2 THRU

36

20

BaN

27

%

B2 =X = o7y Aol A&7
-60C ~ +200C | ALUMINIUM AZH 20X (P25
(Max 250C) | (glass sanding) | 20 X 30X © (SIDE VIEW LENS) @ 2.9 8US TUBE 10mm
2-93.2 THRU
o 35
= ///
j ]
& 10 | 10—
SR 20
30
o
GPF-VS20-250 250°C
B2 S| =XE | =t o7y Aol A&7
-60C ~ +200C | ALUMINIUM AEH 0X Q27
(Max 250C) | (glass sanding) | 20 X 30X 6 (SIDE VIEW LENS) 2.9 8US TUBE 10mm
6 s 2-93.2 THRU
%W"””"”m ] 1]

—10—

20

30

102 www.fasystem.co.kr

J

MM HOIX| 2

I

=
oF

w
iy
wk

ool AlAE(F) 103




ZISE 20|H |FLIE : 7] =}0|H TS E =0lt] RUE : HO|SZA,

J

GPF-VAO1 GPF-VR105 Qglek)e

=& MERE S| =X =yt Foj74y 7ol =Z2|A 72| =g AMER2E = = Foj7d Alolg

o
1
[H
i)
ol
oY
T

HE|

T
N
or

R20 -80T ~ +70C SUS 303 @35X20 21.0 @ 2.2 Optical fiber | 7t= R25 -40C ~ +105T SUS 303 M5 X0.8P X 21 ?1.0 @ 2.2 Optical fiber

MM HOIX| 2

I

10 24
—10—

$2.2 Optical fiber

@5 oL @2.2 Optical fiber (Heat resistant 105°C) | e
I | 4 10 *
| | | 5T

#1.0 (2oinZ) o
0

)
¥ (

—10—o

0

?1.0 (ZofalZ)

20 2,000

]
|

S0|H &

GPF-VAO2 GPF-VR250 |p&le .

=& MERE S| =X Sl =74 o7y 7ol =2 7z =g MERE S=xE o =4 074 7lol= 1712

%;

oY
s
[EI
E
Pl
u\.l

-60T ~ +200C @ 1.4Z0f21Z)

R30 -30C ~ +70C SUS 303 @35X20 @15 @ 2.2 Optical fiber | 7t= R25 (Max 250°C) SUS 303 M5 X 0.8P X 21 @ 2.9 SUS TUBE

(@ 0.05 x 600, Glass fiber) ok

THE
N
olr
IJ_J

©2.2 Optical fiber

)
¥ 1

1.4 (R0{HZH)
(£0.05x600, glass fiber)

BL5 (Zoimzd 18 1,000

SENSOR®| Z0|= [T 10M7HX| H|%} 7+

4 1
I I
2,2
n
-
/A }[ ST

GPF-VAO03-250 |p&le)e GPF-VR250-1.5-EST(x) [psle x

2 MERE S|l =R Sl =t4 o7y 7ol =22 =712 SEE MERE SlI=RE &=t Foj7y 7lol2 zZ2[ZH

?1.2(20{2Z)
(@ 0.05 x 400, Glass fiber)

L]
A

JIN)
oY

£712| =

-60TC ~ +200C
(Max 250C)

-60C ~ +200C ?1.2(z201x17) ol
(Max 2500) SUS 303  [M5X0.8PX27.5 ©2.9SUSTUBE | 27t= o

SUS 303 @35X20 (© 0.05 x 400, Glass fiber) <k

@298SUSTUBE | =7t R25

10 | 04

i 10 Optical glass fiber (Heat resistant ~60°C~+200°C, Max: 250°C)
- With @2.9 8US protective armor
4 —— 2,
T H A HH A HHH

WO-UHORHROAAD

/G-hexagon 8
!

n

41

D)
-5

— 18 ———— 14—

2,000 27. 1,5

n
o

91.4 (R0121)
(#0.05x600, glass fiber)

104 www.fasystem.co.kr ol ZoO|AAENZE) 105



GPF-VJ03(2507C)

a7 JE=2=1 Rz O-RING
1 O-10Pa_m’/s
M5 X 0.8P X 45 -60C ~ +200C _ (Ho 213 HAE)
(CORE : @ 1.5 GLASSLOD)|  (Max 250%) SUS 303 AN-106(VITON)

*¥255: M5x0.8PUHE

M
‘ #12 MSX0.8P ATHM
’ | | |

CORE: 81.5 GLASS LOD 45

GPF-VJ03-2(350°C) et

T4 Alges N ES) O-RING . |EtMIZ 108p
1 0’1 a, S
(COREM5®X1O'582L>§;§5S LoD) '6&2{92%930 SUS 308 AN-106(VITON) (He 212 H=2)

XEASE: M5x0.8PHE

HtM
‘ \ 012 MSX0.8P AT CA
(] | | |
l | |

CORE: $1.5 GLASS LOD 45

GPF-VJ05(250°C)

7 AlgeE Rhz! O-RING
1 071 OPa.mi/s

XEAE: M5x0.8PHE
HAAM
ATLA

CORE: 1.5 GLASS LOD 33,5

106 www.fasystem.co.kr



7|EtHIE 7|EtHIE

GPF-SVLI(AO|EREIX) GPF-VLO7(ZEAHz2|HE=)

72 e sc 2 Azie] g2 e 72 Azwr st &2 Aztel
- St
-60C ~ +350C SUS303 | ©4X83 @28 | I AEIE | 12 -60C ~ +3500C SUS303 | @11X18 010 | e B melg | o | off IS EEA

80,5 M4X0.7P,DP3.5

=M @ i

1

— Coa 94 M2.6X0.45P,DP3.0
i 1 — =

GPF-SVL2(MO|EHH) | N

Ages e 72 Az25z 2= w52t Azl
GPF-AT10 GPF-AT13
-60C ~ +350C SUS 303 ?4X13 028 Ueh TZ WIS | 2412

£E====0]

?2.8
: 24 1 M2.6X0.45P,DP3.0 :MMM I]lj.—,i U]MM I]]j—i
,
4 -

| 13 11,7 — 13 11,7 —
13 |

GPF-H13-LS(2&4olEEf) 2lo[H{FE
GPF—VLOG(E&?-IE_IHIK $1.5(21418 BH0I6 LOD 12mmae)
AME2E T T4 HERAZ S= R|ek2t AE7z2 @
- St
-60C ~ +350C SUS 308 @ 8X10 @7 gt DT HA2IE | %6 Sffojﬁ;?;? =a ‘ ‘ \
38 @7

M2.6X0.45P,DP3.0

= B

108 www.fasystem.co.kr ol Zoo| A AENZE) 109



E| LI 7to|=
JER

2M(SIOIHAI0IS) SF2| 274

A Y5 /8%

| Bare | TEE 23R5-25
— S 2SR
e 23R1~2
— S0 1057, 15019 258 2t

2 2 —T—@TER 2007, 35012 252 21
— IR 350CE ately
> LIZE s10]6t 94

EEENRERESE

B =]
E2{XIZ : Smm(R4mm)

55 : 5008
ZiE drA0f| CH
FIEEE sj0j= SAIs0] F0j9} Fpio| BHSO)
: Ao Sc R TAED, WS F0j| L
- ____.__ = S olo| ZAROIA FHIAIS HH=s)
. ; . ZILICE 310JH] LIS XILD SRlolA L2
Aol R BIS OF 60T 0| ZtT 2 TRIK FAPELICH

LI B &

b

»=H0|H Roil= T7 M2l 20| 45| gl
LH=0|= S LH2HE-g0] FOfELEL

»3t0[H 2| SF0H| 2fsh K247kX| (Z2|H|0]
0| thS01 7HS LI,

i:-‘ #acs g PN RO ™ '
60 :
LED
LE]

3

> 20| Z2 540|0t

oL
TTA

| = peie Zze

HI5HK| e, |

SOt AME Sl S HE| F0| AR 3,
HA
HAE

Mol 2504 ofet FE

=

=

S0l 30 71y E0|H EO{ 7Y

a7t EUC

o

1
t=z=

g=l0[Hie| SRt Y

AN UZFEY BEZFER == Et)
(HE|Z) () (HE)

= fARaEReta
o LI
x

Qto] AME2 BHLIZ HY)

-2J0f| o3t Y HS0| ML | 4o ME 50| ECL ‘LI2540| ZCt.
S |sgazun: (D™ HE A2k ACt) | =2 3e
& | Rimm EER2mm g 2F U 10023 O A} (CHE0)

R10mm E& R20mm 518 23 84 : Rdmm

Zefo] B BRIt bl HEMOR YOI ALBE DT | 7HE REO AT
o | -SSR AT 20 A | 1T 7H20l KziE L)
g |7ts
2|23 uHs HALR) ot
S | Mz
= | sjoittol ot 2ol ¢

StX| 42
o
-i}!- S 1 GPF-T025 £t GPF-T003 Et% : GPF-T009
:?'I HEALS : GPF-D030 HIARY : GPF-D002 YIAFS 1 GPF-D036

O ZofloJAlARY(F) 111



PFA LH2FZ-30il ChaH

2joHj2| =E YEY 7kSE R0IM A0l CHaH

=3 PFALIQIZA =3 PFALHOHZ
228 s 258 s sfolufel HEt2 FE HEI(SHOI6IO] £4)S ASH FHAIR. UFOR 30| YRS WS Yot TER B EE S} ot F3t
AB.CER @ HA o HE0] LH3H LIS 510[HHS RITHe 4 QLT 2 =X 47| I20] SH0jHt SRS 9 FHAN BT LIS HIIE KA0) MX[510]
Or2le! CeHsNH 2 @] BER o _ AL2SHOFBILICH AFRBIAIS AdH|, BR[| 2 L&t 4 QL= HIE 7AS SI0I51Al & A
_0H§£93E0§ 7|.AO|E 10 MESH Z=M2. S NS = (= =T MC o= o= o 5
olZRzLEY CzHiCN o zasual Na2Cr20r o O =0l 1EI2] 80l S0 = S L0l HEH =M EREINY
olamE o ZNHHE Ba(NO 1)z o @ Z'ES 27K TH0| =2 L2t oo A2,
oe (CH3)eCO o semon B © SHOJHHS Bt 7H 4 IS 3 ¢ AFS 3 LS EHo) ALSSIX| HOIFHIR —-— —
EHs CH3OH Q NER 0
g2Li0t NH3 o] s Q $10[1} 10| ZHEBH0| HR{LHE A0l e |
190 S& i~QH 18 o 243 HiE BalOH) 2 o ST g= =E AT N BOIb 7 uE R
190 58 Y28 i-GiHsOH o) M CsHsOH o) TR B U T SHORFAIR.
190 =8 HE HE CaHsCOCH 3 o B8R o SIE0 HIT, ALt £9| R7|8Hl= AHESHA|
MIEHE CzHs0OH O BHeh 0 NazCOa o HOPFMIR.
VEE (CH3)20 o) 3 e 0 - BE 2= AR RRO HY o JE, £0]
NEEEET CaHa4(OH)z o) T o HFO| ZIT SEHOY ©f3 20% BE Matot=d |
oLty s o = (o] 0| UELICE HE HEI= AUE 2HHT
s 2es NH4CI o E2IR220E CzHaCla o - SHO[HE QLI AL FZAto] 22| SO Thah s
4 Us CaClz o =R L CzHCl3 o Mz HE AILME BHFM1R.
s LIEB NaCl @] BE0 CeHsCHsz O
e BaClz 8] LIZE} CrHs o
o4 cl2 e] s (o)
Tl (o] sz wm CsHsNO2 o
oA 8 o EEA LA 24 HF A
T Hel o ERNEIE o)
x| —1 =
BI5tHI0] ACH NaOH o zae 1 FCOls 5] Flagel =2
OtHE CH3COOH (s Z2E ¥IE CaHs(OH)3 o
e HNO 3 0 ZEEd =28 CaHz(OH)2 8] p XI1Z5}0|H}
B H2804 o o CaHs 0 i )
oI CaHa (OH) (COOH) a o DIE HIOIE3 o P> ZISSI0l6t GPF-VAIZIZ0f CHa SX], TS Z S0l A= FH2 1PA
MIEED QSLOHeE AL H 01 S8 Al FHL.
Fax CaHs (OH) 3 (o) g H20 o > Jlﬁfhl'_l ’:xI]AILI "}I U= HHOTE] &8 SAISH A
A ﬂ'-_ o E= Tl
: R agg N arm e ZE}* —— 6}5 %a | =17 mol Al
* 22| H= A2 7HEE HE5H= A0| OtL 7| IE0] F2[sh FHAL. Oof ZAINQ. =
- - . @M JH= B SN 87 10m
S8tAL0 CHEHA = AL HOF0AH 22l FMI2. 28 G Y 9507 mE
OF S&s 58 B0 X80 :1.6Ry
glo|H Zo| A=72| EY B ) B
P SlO[HIQt HI FLI0f2 MX]| Folgt M
S0|HE H&ot= A= Qs ZE 72|17} HOIK |22 F25t0] FHAL.
O REE HHE O FHL. P M @3t0[He| ZR= 4 MBHENX|HEO| ZE5H 2t0[H7F KHERX|HE
> EEAM of MEHEITH0.51mm FE LI E25) Z2oH FHI2. 1 %, 4B KK
= o= @ SOl 1 HHS TSS2 01 FAIR. 191 7ojo| OFE K| Tlelof T FHL.
ANTR AMZO0|E HE| Hsts (@ 5l0|HIE Y QLJ0| OFZTJIX| H|CHE AHQ!
= ] -
G NS e 2m 5m 10m 15m 20m 25m 30m S M2, SH0jHIO) ALRLS 310 jH} ALe) P 510|HF SLI0| RCHH Tl OHIT QL AtoliEt
$0.25 R4 100% 62% 28% 12% ArE Bt MEBEI AEEI} 222t E7] 20 40mm(Al 40mmol &
A1 100% 66% 33% 17% MBEI} NSEI ARE} 0| 7I= DIE.E 2 siFMS. Z510[HH= 10mm) 0|4fQ] RIMEL= 5t
$0.5 Half =M. 1 0|219| HiM A= 510]
RIS 100% 85% 64% 49% 37% 28% 21% RXHH0| FHZ SIOIEA|S. it =
©ZH7 AR BTN B0l 2 HIZOICY) 518 22E ROl
$0.75 R15 100% 85% 64% 48% 37% 28% 21% AO 2 AIRSHZMQ. 512 2T 0512
R2 100% 76% 48% 30% 19% 12% ABEI} MEEUS FR0=, AEHH2 7t B80S
1 RS 100% 50% 16% NEEI MEEI} NSE} ASE 7Lt 0| 217t QST “ommoret
R20 100% 85% 64% 49% 37% 28% 21% =5 upAbE S04 SIS S0
% sua CHe 29, B S10JHHS 48l 7
> LigAM = I o EZ=0| =4 S0JHLE 250
=a 88 HOIFEML.
AMER AMZO0E 72| Hstg
IOXIE =34 2m 5m 10m 15m 20m 25m 30m JH7HS] ENQ| ZXILE MX| gt 510|HE QUIO| Z20i| QJsiA], HEHz2)
105 - 100% 57% 22% AEEI} AEEN MEEI A28t Lt ZAIX|Of X0|7} 47 |i= O] LELIC
150C - 100% 50% 16% NEEI} ANSE NS EI} ASE}
200 100% 93% 76% 54% 38% 27% 10% 13%
350T B 100% 81% 58% % 29% 20% 14%

112 www.fasystem.co.kr Ol ZOflOAIARY(ZFE) 113



—— Certificate——

of Registration

R A R B Ry
o] Zof o) X 27] (F)

LAFHA AT AT 231-4 23

ofol R FAFAL 74 2] FAAIA 2|
ot 9] AFTHA A ATt

ISO 9001:2008
AFBY P PN EFVhE AR FI5UE FelP
A5

FsfolubAlA, FAIA )
Az Y A2

Az} : 28th November 2012 olz=A WE : Q481712

Rls
77|z : 27th November 2015

The Seal of ICR Limited was here to affixed
in the presence of :

i

President

12 7|YS0[ IO A— S| MZS 50 Aot A

Pimsunc NI @ LGu2=3o| S!?rynix

j P sunc PCRIN)]

114 www.fasystem.co.kr



